KALIP ELEMANLARI
3 DIE COMPONENTS
NORMALIEN



#" NOTES

www.gsb-oilless.com ‘EH"IHEE info@gsh-oilless.com

3.2



—CS3

Index
Contents Page Contents Page

312 319
M301-00 M301-09
Mekanik Dayamalar Mekanik Dayamalar
Gage Gage
Einweiser Einweiser
BMW - MERCEDES - BENZ - FCA - FORD - OPEL - VW/AUDI

313 3.20
M301-01 M301-10
Sertlestirilmis Mekanik Dayamalar Mekanik Dayamalar
Gage Hardened Gage
Einweiser Gehartet Einweiser
BMW - MERCEDES - BENZ - FCA - FORD - OPEL - VW/AUDI MERCEDES - BENZ

314 3.21
M301-02 M301-11
Sertlestirilmis Kontrol Parcali Mekanik Dayamalar Sertlestirilmis Mekanik Dayamalar
Gage for Sensor, Hardened Gage Hardened
Einweiser fiir Teillagekontrolle Gehartet Einweiser Gehartet

MERCEDES - BENZ

315 3.22
M301-03 M301-12
Mekanik Dayamalar icin Sensor ve Konnektorler Sertlestirilmis Hassas Mekanik Dayamalar
Sensor and Connector Precision Gage Hardened
Sensoren und Steckverbindungen Feinenweiser Gehartet

VW/AUDI

316 3.23
M301-04 M301-13
Kontrol Parcall Mekanik Dayamalar Sertlestirilmis Mekanik Dayamalar
Gage for Sensor Gage Hardened
Lagekontrolle fir Platinen Einweiser Gehartet
VW/AUDI BMW - MERCEDES - BENZ

317 3.24
M301-05 M301-14
Sertlestirilmis Kontrol Parcali Mekanik Dayamalar Mekanik Dayamalar
Gage for Sensor, Hardened Gage
Einweiser fur Teillagekontrolle Gehartet Einweiser
BMW - FCA

318 3.25
M301-06 M301-15
Kontrol Parcali Mekanik Dayamalar Kontrol Parcali Dayama
Front Gage Position Control for Blanks
Einweiser fur Teillagekontrolle Gehartet Lagekontrolle fur Platinen
FCA - OPEL VW/AUDI

www.gsb-oilless.com m info@gsh-oilless.com

33



—CS3

Index
Contents Page Contents Page
3.26 3.32
M301-16 M303-02
Mekanik Dayamalar Merkezleme Pimleri
Gage Locating Pins
Einweiser Zentrierbolzen
BMW - VW/AUDI
3.27 3.33
M301-17 M304-01
Mekanik Dayamalar Hava Pimleri
Gage Air Pins
Einweiser Duruckbolzen
BMW - FORD - OPEL
3.28 3.34
' M302-01 M304-07
Konik Merkezleme Uniteleri Hava Pimleri
Locating Cone Air Pins
Zentriereinheiten mit Abstimmscheiben Unterluftbolzen
FCA - VW/AUDI VW/AUDI
3.29 3.35
' M302-02 M304-08
Konik Merkezleme Uniteleri Hava Pimleri
Locating Cone Air Pins
Zentriereinheiten mit Abstimmscheiben Unterluftbolzen
FCA - VW/AUDI BMW - MERCEDES - BENZ - VDI 3002
3.30 3.36
M302-03 M304-09
- Ayar Plakalari Hava Pimleri
Shim Plates Air Pins
Abstimmscheibe Unterluftbolzen
VW/AUDI - VDI 3002
3.3 3.37
M302-08 M304-10
Konik Merkezleme Uniteleri H«_ava_PimIeri
Locating Cones Air Pins
Zentriereinheiten mit Abstimmscheiben Unterluftbolzen
VW/AUDI
332 338
M303-01 M305-04
Merkezleme Pimleri Cikarici Set, Gazli Yay, Kovan ve Bronz Grafitli Bur¢
Locating Pins Lifte_rs with Gas Springs Sleeve and Bushes, Self-
Zentrierbolzen lubricating
I Federbolzen
FCA

www.gsb-oilless.com m

34

info@gsh-oilless.com




—CS3

Index
Contents Page Contents Page
3.39 3.46
M305-05 - M307-01
Flans Kaldirict Frenleyiciler
Flange Lifter Retainer Bolts
Kantenheber Zugbolzensatz
FCA - FORD
3.40 3.47
M308-01
M305-06
Akiskan Yonlendirici
Flans Kaldiric Elux Control
Flange Lifter Verteilerblock
Kantenheber
3.41 3.48
M305-07 M308-07
Flans Kaldirici Hava Birlestirme Braketleri
Flange Lifter Air Coupling Brackets
Kantenheber Luftanschlussbock
FCA
3.42 3.49
M305-08 M309-02
Flans Kaldiric Kizak Stoplama Blogu
Flange Lifter Slide Stop Block
Kantenheber Schieberanschlag
FCA FCA
3.43 3.50
M305-09 M309-04
Universal Cikarici Unitesi Kizak Stoplama Blogu
Universal Lifter Unit Slide Stop Block
Universelle Hochhebereinheit e Schieberanschlag
BMW VW/AUDI
3.44 3.51
M306-02 M309-05
Emniyet Pimleri Kizak Stoplama Blogu
Pad Retainer Pins Slide Stop Block
Steckbolzen Schieberanschlag
VW/AUDI - VDI 3365 BMW - VW/AUDI
3.45 3.52
M306-03 M309-06
Emniyet Pimleri Kizak Stoplama Blogu
Pad Retainer Pins Slide Stop Block
Steckbolzen Schieberanschlag
VW/AUDI - VDI 3365 BMW - VW/AUDI

www.gsb-oilless.com m info@gsh-oilless.com

3.5



—CS3

Index
Contents Page Contents Page
3.53 3.63
M309-07 M310-08
Kam Stoper Makara
Slider Stop Damping System Roller
Dampfungssystem Schieberanschlag Rolle
VW/AUDI VW/AUDI
3.54 3.64
M309-08 M310-08
Kizak Stoplama Blogu Makarali Surtct Uniteler
Slide Stop Block Roller Group
Schieberranschlag Forderrolle
FCA
3.55-3.60 3.65
M310-01 M310-09
Makarali Kollu Kaldiricilar I Destek Kolu
Roller Stock Lifter Coil Support
Federnde Laufrolle ’ Abstreifer
VW/AUDI
3.61 3.66
M310-03 M310-10
Makarali Suruct Uniteler - Makarali Sarticti Unite
Roller Group Roller Drive Unit
Forderrolle Rollenantriebseinheit
FIAT
3.61 3.67
M310-04 M311-01
Bilyal Taslyicilar Elastomer Yaylar icin Sabitleme Pimleri
Ball Carriers Pin for Elastomer Springs
Kugelrollensystem Aufnahmebolzen
FCA FCA
3.62 3.68
M310-05 M311-05
Celik Makaralar Elastomer Yaylar icin Sabitleme Pimleri
Steel Roller Pin for Elastomer Springs
Stahlrolle Fuhrungsbolzen
VW/AUDI DIN 9835
3.62 3.69
o M310-06 M312-03
o Plastik Makaralar Emniyet Civata ve Rondela Setleri
A Plastic Roller Retainer Bolt Sets
o Plastikrolle Zugbolzensatz
FORD

www.gsb-oilless.com m

3.6

info@gsh-oilless.com



—CS3

Index
Contents Page Contents Page
3.70 3.77
M312-08 M316-02
Emniyet Civata ve Rondela Setleri Kavrama Somunlari
Retainer Bolt Sets Coupling Nuts
Zugbolzensatz Kupplungsmutter
FCA
3n 3.78
M313-01 M317-04
Emniyet Setleri icin Borular Kama
Spacer Tubes Key
Distanzbuchse Passfeder
FCA
3.72 379
M313-02 M317-05
Emniyet Setleri icin Borular Kama
Spacer Tubes Key
Distanzbuchse Passfeder
BMW VW/AUDI
3.73 3.80
M313-04 M317-07
Elastomer Yaylar icin Rondela Kama
Washer for Elastomer Spring Key
Federscheibe Passfeder
FORD
374 3.81
M313-05 M317-08
Rondela Kama
Washer Key
Unterlegscheibe Passfeder
FCA
3.75 3.82
M313-06 M317-10
Rondela Kama
Washer Key
Unterlegscheibe Passfeder
3.76 3.83
M316-01 M317-11
Kavrama Plakalar Kama
Coupling Plates Key
Befestigungsplatte Passfeder
FORD

www.gsb-oilless.com

3.7

m info@gsh-oilless.com




—CS3

Silindirik Stoplama Blogu
Cylindrical Stop Block
Abstandsblock

FCA

Zorunlu DénUs Destek Plakalari
Positive Return Plates, Steel
Zwangsrickholer

FCA

Index
Contents Page Contents Page
3.84 3.93
M317-12 M318-08
Konumlandirma Blogu | Bosluk Ayar Plakasi
Locating Block 9 Shim
Fangbacke Unterlegscheibe
VW/AUDI
3.85 3.94
M317-16 M318-09
Kama Baski Plakasi
Key Pressure Plate
Passfeder Druckplatte
VW/AUDI
3.85 3.95
M317-17 M319-01
Kama Sabitleme Kelepgeleri
Key Coupling Clamps
Passfeder Befestigungselement
FCA
VW/AUDI C,
3.86-3.87 3.95
M318-03 M319-01
Stoplama Bloklari g”ya" Yatak
Balance Blocks eeve
Distanzstiick Flihrungseinheit
FCA
VW/AUDI
3.88-3.89 3.96
M318-05 M319-02
Disli Ayar Plakalari
g;?fr'fc?asg'fﬂa” Spacer Plates, Toothed with Adjusting Plate
Distanzstiick Distanzplatte Gezahnt
VW/AUDI BMW - FCA - VW/AUDI
3.90-3.91 3.97
M318-06 M320-03
Kam Hareket Mesafesi Ayar Plakalari
;;?f:,i?ggfﬂa" E Cam Pad Guide Wear Plates
Distanzstiick Flhrung fur Ziehkissen
VW/AUDI
3.92 3.98
M318-07 l M320-07

www.gsb-oilless.com m

3.8

info@gsh-oilless.com



—CS3

Index
Contents Page Contents Page
3.99-3.100 3.107 - 3.108
- M321-01 M322-01
- . Sapkali Serit Pimi, Yay-yuklemeli
| S;:'C‘;E;\ézrr' e Profi / Strip Guiding Pin with Collar, Spring-loaded
{; Abstellbolzen Streifenfiihrung mit Bund, Gefedert
VW/AUDI
3101 3108
M321-02 M322-02
Montajli Profil Govde Disli Tapa
Pipe with Assembly Screw Plug
Klapprohrkérper mit Baugruppe Verschlussschraube
VW/AUDI
3.102 3.109
M321-03 M323-01
Montaili Profil Gévde Pilot Pim Unitesi
Pipe with Assembly Pilot Unit
Klapprohrkérper mit Baugruppe Suchereinheit
VW/AUDI MERCEDES-BENZ
3103 310
M321-04 $510-02
Profil 5x50x70-L480 Emniyet Pimleri icin Amortisor Vulkolonlar
Laser Cutting Part Shock Absorber for Pad Retainer Pins
Rohrlaserteil Halteelement
VW/AUDI OPEL
3104 am
L
M321-04 S511-01
Profil 3x50x70-L480 Elastomer Tipa
Laser Cutting Part Elastomer Cap
Rohrlaserteil Elastomerdrucksttick
VW/AUDI FCA - PSA
3.105 312
d M321-05 S$515-03
'tf Genislik Ayar Profili Set 5 mm Elastomer Siyiricilar
Pipe Box Set 5 mm Stripper for Blanking Dies
- DIY-Klapprohr-Box 5 mm Abstreifer fur Platinenschnitte
= VW/AUDI FCA - VW/AUDI
3.106 3m3
L
i M321-05 Z401-01
." Genislik Ayar Profili Set 3 mm Zimba Tutucu
Pipe Box Set 3 mm Stamp Retainer
o DIY-Klapprohr-Box 3 mm Halteplatte
F
VW/AUDI FCA - PSA - RENAULT

www.gsb-oilless.com

3.9

m info@gsh-oilless.com




—CS3

Index
Contents Page Contents Page
3n4 3.120
Z401-02
M314-01
Altlik Plakasi o
Backing Plate \S(ay‘“ lt';'lle"
Druckplatte pring Plungers
P Federnde Druckstiicke mit Sechskant
FCA - PSA - RENAULT
315 3.120
7401-06 M314-02
Yayli iticiler
gmba ﬁ Spring Plungers
amp Federnde Druckstiicke mit Sechskant
Buchstabenstempel
FCA - PSA - RENAULT
3.116 3121
2401-07 M314-03
Zimba Yay_ll Iticiler
Stamp Spring Plungers i )
Buchstabenstempel Federnde Druckstlcke mit Sechskant
FCA - PSA - RENAULT FCA
3z 3122
Z402-03 M314-04
Konumlandirma Zimbasi i Yayli iticiler
Visual Locator Punch Spring Plungers
Endkontrollstempel Federnde Druckstlicke mit Sechskant
VW/AUDI
3ns 3123
2000166439 M314-05
Kabartmali Capak Kaydirma Plakasi A Yayl Iticiler icin Ayar Takimi
Stainless Steel Embossed Sheet Insertion Tool for Spring Plungers
Gepragt ScheiBe Beschreibung
3.8 3124
A101-15 M315-01
Rondela Stoplama Civatalari
Washer Shoulder Screws
Scheibe Schulter-Passchrauben
3n9 3125
M307-04 M315-02
R e
Retainer Bolts Haltebolzen
Haltebolzen

www.gsb-oilless.com m info@gsh-oilless.com

3.10



—CS3

Index
Contents Page Contents Page
3126 3132
5504-03 S512-1XX
.ﬁ Yayli iticiler Delikli Vulkolon Yaylar
Spring Plungers Elastomer Springs, Hollow
Federnde Druckstiicke mit Sechskant Elastomerfeder
VDI 3004
3123127 3132
S504-04 S513-1XX
Yayli iticiler Vulkolon Yaylar
Spring Plungers Elastomer Springs
Federnde Druckstticke mit Sechskant Elastomerfeder
VDI 3004
3128 3.133- 3134
$504-05 S$514-XXX
Yayl Iticiler Delikli Vulkolop Yaylar
Spring Plungers Elastomer Springs, Hollow
Federnde Druckstiicke mit Sechskant Elastomerfeder
VDI 3004 FCA - PSA
3129 3135
S504-06 D901-01-745
Yayli iticiler Q Kalip _Al|st|rma Boyasi
Spring Plungers H.! Dressmg_ Paste for Surface Control
Federnde Druckstiicke mit Sechskant e Retuschierfarbe
VDI 3004
3.130
$504-07
ﬁ Yayli iticiler
Spring Plungers
Federnde Druckstiicke mit Sechskant
VDI 3004
313
S504-08
Yayli iticiler icin Ayar Takimi
Insertion Tool for Spring Plungers
Beschreibung
331
S510-05
Delikli Vulkolon Yaylar
Elastomer Springs, Hollow
Elastomerfeder

www.gsb-oilless.com m info@gsh-oilless.com

n



° M301-00
G E Mekanik Dayamalar

Gage
Einweiser
13
b4
| 20°
A~
'
Material : ~—~ |
CK60 BE !
Forged 230 |
Different lengths on request; |
& !
Max. Length: 350 mm |
'
i j |
20 R I
o 1 |
T
107
@8 "
i)
30 VA _€i? 4 '_
8
26 26
oooo I
0 0O0MOma0 65
0 OO0 90
o 120
0 D0000mon 150
0 00000 180
0 D00mOmoa 250
300
0 DO0MOman 350
Order Example:
1=165
Order Code:
M301-00-165

www.gsb-oilless.com m info@gsh-oilless.com

312



M301-01

Sertlestirilmis Mekanik Dayamalar
Gage Hardened
Einweiser Gehartet

1 220°
Q
i | & Surface Hardened
\ Material : ~~
! CK60 B E
230 } i Forged
! I
Hardened
‘ HRC 56 + 60
& w ‘
‘ i Different lengths on request;
I
HHE | i ‘ Max. Length: 350 mm
20 I ' i
il h ‘ \
I
107
78 "
M
30 1 1=
|
4><L—
8
26 26
oooo |
0 DOOCOOoD 65
0 00000 90
0 DO0m0moD 120
0 DO0MmOman 150
0 0oDmomm 180
0 DODOmon 250
300
0 OO0 350

Order Example:
1=165

Order Code:
M301-01-165

www.gsb-oilless.com

313

m info@gsh-oilless.com




— Gﬁ M301-02

Sertlestirilmis Kontrol Parcali Mekanik Dayamalar
Gage for Sensor, Hardened
Einweiser flr Teillagekontrolle Gehartet

&
I )
\\ 220",
) 0
. | L Surface Hardened
Spring ‘
Material : ~~ ‘
CK60 B E |
Forged ‘
230 ‘
Hardened |
HRC 50 + 55 % [ : _
T 1
Material: ‘ . ‘ E
Plate L\ y l2
St37 I h
i 1
2 e\ 'i

Different lengths on request; I

Max. Length: 250 mm 107

o e

| 4 8
i
M8x1
26 26

oooo w I h I2
120 120 55 70
0 DODmMOmon 120 150 55] 70
124 180 105 120
O DO0momog 124 250 105 120
oooo w I h I2
120 121179 55 70
0 D000 124 181 + 249 105 120

Order Example:
1=165

Order Code:
M301-02-165

www.gsb-oilless.com m info@gsh-oilless.com

314




GCS> =
| ]

Mekanik Dayamalar icin Sensér ve Konnektorler

Sensor and Connector

Sensoren und Steckverbindungen

SENSORS

M301-03-01-001 M301-03-01-002 M301-03-01-003 M301-03-01-004

Mi2x1 Mi8x1 M30x1,5
M8x1
24 36
B, = ) ; )
B *0 145 2 |2 R o
30 __ 3 _ 3
LED LED a LED — [ LED — |
Mi2x1 ol MI2x Mi2x1

Manufactured by ~
BALLUFF B E
CONNECTORS
M301-03-02-001 M301-03-02-002
210 210
M8x1 M8x1

22,5

30 |40 —1

5000
=

5000 26
M301-03-02-003 M301-03-02-004

2145 214
Mi2x1

Mi2x1

! 4255 = 727
é e @
5000 38
ooog M301-03-01-001 M301-03-01-002 M301-03-01-003 M301-03-01-004
24V DC 24V DC 24V DC 24V DC
DO0OMIDNOOOIDO0 10..30 V DC 10..30 V DC 10..30 V DC 10..30 V DC
<7mA <10 mA <10 mA <25mA
(] 13 0 0 <10 pA <50 pA <50 pA <80 pA
=5% =5% =5% =5%
00 OIIO0N OO OO0 OI0 -40..+85° C -25..+85° C -25..+70° C -25..+70° C
5000 Hz 2000 Hz 1000 Hz 150 Hz
OO0 OO0 MO000 IP 68 1P 68 IP 67 IP 67
Stainless Steel Stainless Steel Brass Brass
0OD000Imo Connector Connector Connector Connector
CE/UL CE/UL CE/UL CE/UL

www.gsb-oilless.com

315

m info@gsh-oilless.com




c ﬁ btk
| | . ______________________________________________________________________________________________________________|]
Kontrol Pargall Mekanik Dayamalar

Gage for Sensor
Lagekontrolle fur Platinen

Form-B
— VOA‘Y&OB
Material : ~~
Steel B E
Hardened ! I
HRC 60 + 62
12 ) o 12
Y “
39 39|
w w
Wi w1
w2 40 ‘ 40 _ w2
r |y bl 1
| 15 15 |
-—-CD - -
70 70
[ ] [ ]
= | | e
B i i T L |
Surface Hardened Surface Hardened
0oog Form w I w1 w2
IO A 105 145 80 25
D 000D0Do00000 B 105 145 80 25
O A 101 145 76 21
0 DOOrOOrmOo00n B 101 145 76 21
N0 A 105 185 80 25
0 000M00Mmo00000 B 105 185 80 25
IO A 101 185 76 21
0 000MOmooo000 B 101 185 76 21
0L A 105 225 80 25
0 0000ooooom B 105 225 80 25
IO A 101 225 76 21
0 000m0mMoo00o0 B 101 225 76 21

www.gsb-oilless.com m info@gsh-oilless.com

3.16



GCSS e
| | . ______________________________________________________________________________________________________________|]
Sertlestirilmis Kontrol Parcali Mekanik Dayamalar

Gage for Sensor, Hardened
Einweiser flrTeillagekontrolle Gehartet

Surface Hardened

=
) Material (Gage) : ~
CK60 B E
[ Forged
‘ I2
| Hardened
HRC 58 + 60
| i
28 | Material (Plate) :
‘ St37
|
201 | Hardened
HRC 58 + 60
13
105 26
n8
1
™ %o
— ¢
4
30 ¢ — R;i e
8 M
26 " 26
104
oooao 1 h I2 M
120 78 n3 M8x1
0 0o0O0D00mog 120 78 13 M12x1
I 150 90 130 M8x1
0 0O0COD00mo0 150 90 130 Mi2x1
I 180 n4 160 M8x1
0 0O00MOO00mo0 180 na 160 M12x1
I 250 n4 160 M8x1
0 0o0OOmO0mon 250 na 160 Mi2x1
250 184 230 M8x1
0 0o0O0D00mog 250 184 230 Mi12x1

www.gsb-oilless.com m info@gsh-oilless.com

317




CS3 T
| ]

Kontrol Parcall Mekanik Dayamalar

Front Gage

Einweiser furTeillagekontrolle Gehartet

Material : ~_~

L

Sensor not included.

o5
1 ¢ Mmisx1s

60 64

25 27 9
80
oooo 1 h
0 0000000 n7 75
| OOOCOOO0000 142 100
0 0000000 192 150

www.gsb-oilless.com m

info@gsh-oilless.com
3.8



M301-09

Mekanik Dayamalar
Gage
Einweiser

~
15 Material : ~
CK45 a E
Forged
5x45°
i =
15 | |
\ \
55
11
Za Q0
20 FARTRERE G
6,5 22 18
0ooo |
0 000 0OrmaD 55
0 0oOoomon 65
0 000momod 90
0 000mOmon 95
0 00000mod 120

Order Example:
1=120

Order Code:
M301-09-120

www.gsb-oilless.com

319

m info@gsh-oilless.com




GCS> ——
| ]

Mekanik Dayamalar

Gage

Einweiser

Material : ~_ 73

CK60 a m
Forged

73

N |

8,5

20,5 15

0 T 65

] 0O00mon 90

www.gsb-oilless.com m info@gsh-oilless.com

3.20




— GE M301-11

Sertlestirilmis Mekanik Dayamalar
Gage Hardened
Einweiser Gehartet

Material : ~~
73 CK60 B E
o Forged
V
0% Hardened
HRC 58 + 60
\
.20
\ ?\7’0

Surface Hardened

%
y

&
=

151

o D

8,5

0 0o0mOmm 65

0 DO0I0mon 90

www.gsb-oilless.com m info@gsh-oilless.com

3.21




c ﬁ 150112
| | . ______________________________________________________________________________________________________________|]
Sertlestirilmis Hassas Mekanik Dayamalar

Precision Gage Hardened
Feinenweiser Gehdrtet

Surface Hardened

Material : ~~

I
|
CK60 B E 229 !
Forged ! |
Hardened £ ! !
HRC 58 + 60 © ‘ ‘
Different lengths on request; ; ‘
Max. Length: 350 mm 20 I Vil i ! \
L b | \
I
106
28+0,1 o
M
- L ©
.
29,57 - 77_'} ,L
| 1P
L '
—]
8
26 26
0ooo I
0 00000 65
0 000momon 90
0 000Mo0mod 120
D 000m0moo: 150
0 000momoo 180
D 000D0mao: 250
DO 300
0 000mOmon 350

Order Example:
1=165

Order Code:
M301-12-165

www.gsb-oilless.com m info@gsh-oilless.com

3.22




GCSS e
| | . ______________________________________________________________________________________________________________|]
Sertlestirilmis Mekanik Dayamalar

Gage Hardened
Einweiser Gehartet

25
% i
Material : ~~
2IMnCr5 BE
%
(3} Hardened
2 HRC 58 =+ 60
R3
] RERR
s ]
T T ‘ ‘ } ‘
08 2617
40

0.8
T~
4 A
20+005| 65 \ j
"
80
7 10 95
26 14
0ooo 1

al 28
0 0O00MOmon 38
0 0O0OOrooo 48
0 0oOOOnon 58
68
0 000mOomoo 78
88

www.gsb-oilless.com m info@gsh-oilless.com

3.23



GCS> =
| ]

Mekanik Dayamalar

Gage

Einweiser

Hardened e ‘ I
HRC 58 + 60 1N
”ﬁ‘_l‘ﬁ Hardened*|

Material :

CK45
Surface Hardened

Hardened
HRC 54 + 56

Material :
CK45

Hardened*
HRC 58 + 60

o Spring 20’
eSpring

30| 1

F1 F2

23
(OO
Ls

35

590 18,50 Rl

160 10,00 30,00

22,00 65,00

590 18,50

170 10,00 30,00

22,00 65,00

590 18,50

=——— Sheet Metal
]

I

180 10,00 30,00

22,00 65,00

590 18,50

190 10,00 30,00

22,00 65,00

5.90 18,50

200 10,00 30,00

22,00 65,00

Order Example:
1=160, F1=10

Order Code:
M301-14-1601

www.gsb-oilless.com m info@gsh-oilless.com

3.24




o M301-15
| ]
CE Kontrol Parcali Dayama

Position Control for Blanks
Lagekontrolle fur Platinen

Material : >

L

Material :
1.4021
Hardened
HRC 40-45

Material :
Spring DIN 2098

Material :
M6 DIN 934

Material :
Screw M6x12 ISO 4762

Material :
Rivet @4x14 DIN 7337

21 «oF
(=
h =
i
80 Y @ jimnif 60
30 =
—
1
38
86
oooa n |
T 87 145
0 000momog 127 185
I 167 225

www.gsb-oilless.com m info@gsh-oilless.com

3.25



GCS> —
| ]

Mekanik Dayamalar

Gage

Einweiser

20

o6}
p
Material : ~_~ \
cas B E ©
Material : r/ Surface Hardened
C45 i /
Material : |
15 ‘
Material : ‘
cis ‘
Material : !
C15 ‘
& |
Material : 0 ‘
C-M8X40-12,9
i T3 i ‘
241 20 ;@ =1 | ‘
‘ =1
@8 H7
na
n
A= T
s | PICHIETC-—7
n
24 24 15
oooo |
65
0 0OOOnon 90
120
0 000momog 150
190
0 000MOmoo 220

www.gsb-oilless.com m info@gsh-oilless.com

3.26



M301-17

Mekanik Dayamalar

Gage
Einweiser

35

39

49,5

30

&
8
, , , _/
- BZH I
Sl \
100
23 2 /&
A
sl OC 8Dt

Hardened

Surface
Hardened

22

Load Position

\:= Sheet Metal

IF1

Closing Position

35

Extraction Position

Material :
CK45
Hardened
HRC 58 + 60

Material :
CK45
Hardened
HRC 54 = 56
Material :
CK45
Hardened*
HRC 58 + 60

9 Spring

e Spring

Order Example:
1=160, F1=10

Order Code:
M301-17-1601

F1 F2

N (N)

5,90 18,50

160 10,00 30,00
22,00 65,00

5.90 18,50

170 10,00 30,00
22,00 65,00

5,90 18,50

180 10,00 30,00
22,00 65,00

5.90 18,50

190 10,00 30,00
22,00 65,00

5,90 18,50

0 DO 200 10,00 30,00
22,00 65,00
,,,,,,,,, 590 18,50
210 10,00 30,00
22,00 65,00

5,90 18,50

250 10,00 30,00
22,00 65,00

590 18,50

300 10,00 30,00
22,00 65,00

www.gsb-oilless.com

m info@gsh-oilless.com



Y M302-01
| ]
CE Konik Merkezleme Uniteleri

Locating Cone
Zentriereinheiten mit Abstimmscheiben

Form-A
@16H7
Material : ~~
Forged B E
e 16MnCr5
Hardened I
HRC 60 + 64 l2
Material :
CK45
oooo Form d :o!os h I2 di d2 ds ﬂs),l
i A 100 80 40 55 40,5 76 58 5
[0 000D0moomong A 100 80 40 55 40,5 76 58 10,5
I € 100 80 40 55 40,5 76 58 10,5
0 000MOMO0mOd B 100 80 40 55 40,5 76 58 10,5
IO B 100 80 40 55 40,5 76 58 5
0 D0OCDOOOO A 100 80 40 55) 40,5 76 58 55
IO A 100 80 40 55 40,5 76 58 98
0 000M0mO0mod B 100 80 40 55) 40,5 76 58 55
IO B 100 80 40 55 40,5 76 58 9,8
0 DOOCO0MO0mo0 € 100 80 40 55 40,5 76 58 5
O € 100 80 40 55 40,5 76 58 55
0 OO0MOMOomOd C 100 80 40 55] 40,5 76 58 9,8
IO A 120 90 50 65 50,5 96 78 5
0 000CD0rOOn A 120 90 50 65 50,5 96 78 10,5
0 C 120 90 50 65 50,5 96 78 10,5
0 000M0Mmo0moD B 120 90 50 65 50,5 96 78 10,5
T A 120 90 50 65 50,5 96 78 55
0 O00mOmoomon A 120 90 50 65 50,5 96 78 9,8
T B 120 90 50 65 50,5 96 78 55
0 O00MOmonmon B 120 90 50 65 50,5 96 78 5
T B 120 90 50 65 50,5 96 78 9,8
[ OOOCOO0oon C 120 90 50 65 50,5 96 78 5,5
T C 120 90 50 65 50,5 96 78 9,8

www.gsb-oilless.com m info@gsb-oilless.com

3.28



M302-02

Konik Merkezleme Uniteleri
Locating Cone
Zentriereinheiten mit Abstimmscheiben

Form-A
@25
@16H7
M12 on
‘ b Material :
. Forged
916MnCr5
Hardened
HRC 60 + 64
Material :
CK45
d
ooon Form d +0.05 h Iz i d2 ds o
A 100 80 40 55 40,5 76 58 55
0 000MOmMO0mOd A 100 80 40 [55) 40,5 76 58 9,8
A 100 80 40 55 40,5 76 58 10,5
0 000000 B 100 80 40 55 40,5 76 58 55
1O B 100 80 40 55) 40,5 76 58 98
0 00ODOOO B 100 80 40 55 40,5 76 58 10,5
0L € 100 80 40 55| 40,5 76 58 55
0 000000000 C 100 80 40 55] 40,5 76 58 9,8
IO € 100 80 40 55 40,5 76 58 10,5
D 000D0MoOomod A 120 90 50 65 50,5 96 78 55
njaui A 120 90 50 65 50,5 96 78 9,8
0 000M0MmO0moD A 120 90 50 65 50,5 96 78 10,5
0L B 120 90 50 65 50,5 96 78 55
0 0000OrOo0on B 120 90 50 65 50,5 96 78 98
T B 120 90 50 65 50,5 96 78 10,5
D 000D0DO0mog C 120 90 50 65 50,5 96 78 55
C 120 90 50 65 50,5 96 78 98
0 000m0mo0mog C 120 90 50 65 50,5 96 78 10,5

www.gsb-oilless.com

3.29

m info@gsh-oilless.com



GCS> =
| | . ______________________________________________________________________________________________________________|]
Ayar Plakalari

Shim Plates

Abstimmscheibe

Form-A

DIN 74-A5 on
JEINEIN I
17
i
Material : ~~ d2
CK45 BE 4
M302-03-080
DIN 74-A5 29
JEENHN B EVIN
213
£l
d2
d
ulafula] Form d i d2 ds ;)1
0 0oDmOmO0moo A 80 32 63 48 5
0 000MOm00moo A 80 32 63 48 55
0 000000000 © 80 32 63 48 5
] D000 < 80 32 63 48 55
A 100 40,5 76 58 55
0 D0OMOmo0mo0 A 100 40,5 76 58 9.8
0 0o0mOmO0mog B 100 40,5 76 58 55
0 00000000 B 100 40,5 76 58 9,8
€ 100 40,5 76 58 55
0 000000 <€ 100 40,5 76 58 9,8
0 DO0D0DO0mog C 100 40,5 76 58 10,5
0 000MOmo0mog A 120 50,5 96 78 55
afaanssnnynnnusl A 120 50,5 96 78 98
0 000MOm00moD B 120 50,5 96 78 55
0 OO0COD00mod B 120 50,5 96 78 9,8
0 00OCODO0mm € 120 50,5 96 78 55
0 000m0mo0mod © 120 50,5 96 78 9,8
0 000MOmonmon C 120 50,5 96 78 10,5

www.gsb-oilless.com m

3.30

info@gsh-oilless.com



— G ﬁ M302-08

Konik Merkezleme Uniteleri
Locating Cones
Zentriereinheiten mit Abstimmscheiben

29 2127 Form - A
[ ] 08
L L
o—L ] NPl
Material :
Forged
e 16MnCr5
Hardened
! $12 HRC 60 + 62
80 L Material :
CK45
d
3097
28,
ROB on
Ky 08
5
5
b
J N Ie
s i Y o5
A
d
|
gooo Form d s +0,05

A 80 5 70
A 80 515 70
B 80 5 70
0 DO0MOmO0mon B 80 55 70
C 80 5 70
0 OOOMmOmo0moD C 80 55 70

www.gsb-oilless.com m info@gsh-oilless.com

3.31



—CS3

M303-01

Merkezleme Pimleri
Locating Pins
Zentrierbolzen

d
d2
. /r
I3 ‘
|
I
‘ h
12 i
Material : !
16MnCr5 ~ A
ap v 2
Hardened ) N
HRC 58 + 60
d ch d2
oooo i -0,05/-0] | h 12 I +02 M r
22 22 45 375 8 25 14 M10 12,5
0 D00D0mo0o00 32 32 50 40 10 35 18 M12 20
0 DO0OOmO00m 40 40 55} 40 10 55 18 Mi12 20
0 D000mO0000 50 50 55 40 10 55 18 M12 20
®
€SI o
1 ]
Merkezleme Pimleri
Locating Pins
Zentrierbolzen
d
M
, S
h {
|
‘ |
D I2
|
Material : < : 110
16MnCr5 a E RN
d2 o
Hardened & :% 0,00
HRC 58 + 60
oooo :6 1 h I2 _o(”:,s d2 M r
0 O000mo00m 22 45 16 35 22 7 M8 15
0 00000MO00000 22 55] 16 45 22 7 M8 15
0 D00moOmOo0o 32 50 20 55, 32 9 M10 20
0 000DOroooOn 40 55 20 35 40 9 M10 25
0 0000mOo000 40 65 20 45 40 9 M10 25
D 000DOmoo00 40 85 20 65 40 9 MI10 25
0 0000OmO000 50 55] 20 5] 50 9 M10 25
0 OOOOmoOoin 56 80 20 60 56 9 M10 30

www.gsb-oilless.com m

3.32

info@gsh-oilless.com



GCSS s
| ]

Hava Pimleri

Air Pins

Druckbolzen

[L[051A d
) \VRa63
‘ Material : >
! K45 B E
‘ Forged
i 800 + 1000 N/mm?
‘ Length (1) is given by the
i customer;
i Max. Length: 360 mm
‘ 1£0,1=?
I
s ‘
4
w -
1000 :’z w b :11 Maz(l.(l';;)ad
0 D00MOMO0m 36 40 65 90 50
0 000MOmo0m 45 50 75 100 70

Order Example:
d= 36, I= 205

Order Code:
M304-01-036-205

www.gsb-oilless.com m info@gsh-oilless.com

3.33




GCSS o
| ]

Hava Pimleri

Air Pins

Unterluftbolzen

o5 [A 060-2
Material : ~~ ‘
CK45 Bm :
Forged ‘
800 + 1000 N/mm? |
Length (1) is given by the ‘
customer; i 1+0,05=?
Max. Length: 440 mm @20 i
P2
| |
1l R 20
T j -
‘ ‘ -0
213 o16-03 | IS
@110

35
Formn Max. Load
1000 (kN)
A 80
0 D00MOmom B 80

Order Example:
Form= A, I=205

Order Code:
M304-07-00-205

www.gsb-oilless.com m info@gsh-oilless.com

3.34




GCSS —
| ]

Hava Pimleri

Air Pins

Unterluftbolzen

N

Form-A
(M304-08-00) ‘
00

[ |80
‘ 65
‘ @90+1
‘ Material : ~~
i 42CrMo4+QT B E
‘ Forged

Form-B 21 L o 800 +1000 N/mm?

| (M304-08-01) |\ N
‘ Different lengths on request;
‘ 5 Max. Length: 360 mm
‘ 290+1

Form-C
(M304-08-02)

1 Max. Load | Max. Load 1 Max. Load
oogo 0,05 kN) ooog 0,05 kN) ooog 0,05 kN)
D 000DODOmon 150 50 0 OODmOOOnon 210 50 0 OO oo 270 50
0 000000 155 50 0 00000 215 50 0 BOTIAEn 275 50
0 160 50 220 50 0 0000000000 280 50
285 50
D 000MOmomoo 165 50 0 DODM0Momao 225 50 o

290 50

0 OOOmOmomn 170 50 [0 OOOMOOMOrmOn 230 50
0 DODOOmOman 295 50

0 OOOmOomn 175 50 [0 OOOOOMOmmOn 235 50
0 DO0mOTo o0 300 50

0T 180 50 240 50
0 000MOMOmon 310 50

0 O0OMOmomon 185 50 0 DOOMOmOman 245 50
o 320 50

190 50 250 50
- SR S 0 000000 330 50
0 000MOmomoD 195 50 0 D00MOmomog 255 50 g 340 50
Co 200 50 R 260 50 0 O00mOrmoo 350 50
[ OO0OMOOoroD 205 50 [afsanannnnnannnl 265 50 U DOomOmomod 360 50

Order Example:
Form= A, I= 205

Order Code:
M304-08-00-205

www.gsb-oilless.com m info@gsh-oilless.com

3.35




GCS> ——
| ]

Hava Pimleri

Air Pins

Unterluftbolzen

@50+2 % [#]002]

[[os[a

s,
o

Material : ~~

CKds B E ‘
Forged 1£0,05=?

800 + 1000 N/mm?

Length (1) is given by the ‘
customer;

Max. Length: 600 mm ‘

@20
&
1 I
8 T 20
i ==
| L 0]
213 ‘ 216-0.3 5
@100+
Form-A Form-B
Max. Load
oooo Form kN)
T A 80
0 DO0M0m0m: B 80

Order Example:
Form= A, I=220

Order Code:
M304-09-00-220

www.gsb-oilless.com m info@gsh-oilless.com

3.36




GCS> Moo
| | . ______________________________________________________________________________________________________________|]
Hava Pimleri

Air Pins

Unterluftbolzen

A 250
2x45° Material:
1.7227 (42CrMoS4+QT)
40-0,2
wn
(=1
o
A
«©
1
T
e
70 75
20| 23 5
18
9y \
) (a5
e
N——
30 - 17-02
oooo Max. Load (kN)

80

Order Example:
1= 220

Order Code:
M304-10-220

www.gsb-oilless.com m info@gsh-oilless.com




GCS> =
| | . ______________________________________________________________________________________________________________|]
Cikarici Set, Gazli Yay, Kovan ve Bronz Grafitli Burg

Lifters with Gas Springs, Sleeve and Bushes, Self-lubricating

Federbolzen
M12
L
|
43 % ‘ 3
n Material (Sleeve): <@ @30 ‘ 11
CK45 a E - L
218
Hardened mes T T
HRC 58 + 62 1 S
I2 | I}::*:i |
Material (Bushes): ‘ HRC ‘ FI:‘ o
Bronze with Non-Liquid i ° :. [
Lubricant I ‘: o .
HB =190 ‘ I3 19| o
‘ sl
Gas Spring ‘ { f ¥
(3] S
e DIN 472 i Qi 6
| oae e
@ Moxeo DN 92 ; 2 e o
e Material : 1 226 d g
90MnCrve 1 @36H7/17 | JL o
2
Hardened ‘ @45m6 ‘ F2 8
HRC 54 + 60 T I i
1 I
F1
{u(a[a] | h I2 Iz (dTN) (chazN) s
IO 240 15 182 n8 50 68 50
0 DO0M0MOo00 240 15 182 n8 100 136 50
0T 240 15 182 n8 150 204 50
0 000M0mo0o0 240 15 182 n8 200 272 50
274 145 200 135 50 68 65
0 DO0MOmo0og 274 145 200 135 100 136 65
274 145 200 135 150 204 65
[0 000MOmoom 274 145 200 135 200 272 65
314 170 220 155 50 68 80
0 000DomoOm 314 170 220 155 100 136 80
314 170 220 155 150 204 80
0 D00OmO000 314 170 220 155 200 272 80

www.gsb-oilless.com m info@gsh-oilless.com

3.38



Y M305-05
G E Flans Kaldirici

Flange Lifter

Kantenheber
3
< 33 @50
3
) 1
[//10.03[A]
10 e e Material -
CK45
[ ]
= ' Material :
& Bronze + Graphite
S @ ‘ ! HB > 190
o
N e Material :
5 36NiCrMo4
S &
s : @ vex30DiN 912
h e &
JB N 55 © schrorr o8
| 6 Gas Spring
" o M6x12 DIN 7991
10
I
28| ! =3
' K
~
63 ; S s
|
QILCE
10x45°
F1 F2
ooon 1 h l2 Is I (daN) (daN) s
0L 196 127 51 80 100 50 86 50
0 000Omooog 196 127 51 80 100 100 172 50
IO 196 127 51 80 100 150 258 50
0 OOOOOrmooon 196 127 51 80 100 200 344 50
T 256 157 81 1o 130 50 86 80
0 00000 256 157 81 1o 130 100 172 80
DO 256 157 81 no 130 150 258 80
0 000m0mooog 256 157 81 1o 130 200 344 80

www.gsb-oilless.com m info@gsh-oilless.com

3.39



GCS> =
| ]

Flans Kaldirici

Flange Lifter

Kantenheber

?

Material : ~~ ( N ] Is

CK45 B E 21704 281702
ial: '

Material : T B

Bronze + Graphite 26 | "H . ‘:

HB > 190 i
o O3T D1(x4;

9 Material :

36NiCrMo4

I2 (stroke+1)

@ vex30 DN o2

9 Schnorr @8
@ Gas Spring ‘
0 M6x12 DIN 7991 6

@65
F1
h s (stroke)
HH F2 E
HE (=}
N S
i oo}
iy ‘N
[ [ L _
= M 2
i i < 63
e H 75
10x452] |,
; (5]
000 I h I2 Is (dTN) (dFaz:l) s
IO 196 101 51 95 50 86 50
0 000mOmooo0 196 101 51 95 100 172 50
MO 196 101 51 95 150 258 50
0 000mOroom 196 101 51 95 200 344 50
T 256 131 81 125 50 86 80
0 000MOMmona0 256 131 81 125 100 172 80
256 131 81 125 150 258 80
0 0O0MOmooa0 256 131 81 125 200 344 80

www.gsb-oilless.com m info@gsh-oilless.com

3.40



. M305-07
G E Flans Kaldirici

Flange Lifter

Kantenheber
o
S 325 250
g B! .
e ) [T
( B3 (]
ofe | Q)
et nf18 t
g
S g Material : ~~
ls © © CK45 B E
S}
- [ $ Material :
h g Bronze + Graphite
S HB >190
2 b I2 !
[S) .
Material :
T 55 e 36NiCrMo4
35
Ll Lilk @ vex30DIN 912
A ol | © scror s
no e Gas Spring
Fl @ V6x12DIN 7991
s (stroke) 4F2 2
I ®
AL e &
== 63
LN
{ o 75
|
|
'—L7
F1 F2
oooo 1 h l2 Is (daN) (daN) s
T 196 125 80 100 50 65 50
0 OOOOmooon 196 125 80 100 100 135 50
N 196 125 80 100 150 200 50
0 0000monog 196 125 80 100 200 260 50
IO 256 155 1o 130 50 65 80
D 000D0moom 256 155 1o 130 100 135 80
O 256 155 no 130 150 200 80
0 OO0mOCmO00; 256 155 110 130 200 260 80
0T 296 175 130 150 50 65 100
0 000000000 296 175 130 150 100 135 100
296 175 130 150 150 200 100
0 DOOMO0000; 296 175 130 150 200 260 100

www.gsb-oilless.com m info@gsh-oilless.com

3.4



GCS> =
| ]

Flans Kaldirici

Flange Lifter

Kantenheber

@50

K]
T
5

=]
o
‘45.
a

s (stroke)

OTQ

218 (x4 BI0H7 (x4)
|
\

1|

.ﬁ. |
2
I I
“ | @ H ==
Material : ~ ! L] (UL
K45 BE ‘ k ____
D(x4)
Material : [L0.03IA
Bronze + Graphite
HB >190 I
9 Material :
36NiCrMo4
@ vexsoDiN o2 L ‘
e Schnorr @8 ‘ A |
F1
e Gas Spring @65
@ 162DIN 7991 T s (stroke)
i F2 10 _
il 85 S
Il il 12 T
i L || ] | &
H H .
e . 2
o L 2
o | 75| % o3
F1 F2
oooo 1 h I2 (daN) (daN) s
I 196 101 95 50 65 50
0 0000 196 101 95 100 135 50
196 101 95 150 200 50
0 DO0M0mo000 196 101 95 200 260 50
I 256 131 125 50 65 80
0 D00MOMmOOm 256 131 125 100 135 80
256 131 125 150 200 80
0 0O0MOmOo0 256 131 125 200 260 80
296 151 145 50 65 100
0 000MOmo00oo 296 151 145 100 135 100
296 151 145 150 200 100
0 DDOMOmOo000 296 151 145 200 260 100

www.gsb-oilless.com m info@gsh-oilless.com

3.42



. M305-09
| ]
c E Universal Cikarici Unitesi

Universal Lifter Unit
Universelle Hochhebereinheit

si
S (stroke + 1)
-
B
F \ _ _
|
T
4 /o 5§D
27
Hardened
6 HRC 54 + 56
Material (Bush Self-lubricating) :
Bronze + Graphite
HB >190
9 Retainer (2172 472)
Material (Locating Ring) :
N5Crv3
e Gas Spring
@ Vox250IN 9
@ veesoiNen
© vex2oDin o2
oooo " /d s :tlm S =
njala} 19 64 9 25
0 000M0Mmo0o00: 25 64 9 25
0L 19 68,5 135 29,5
0 000000000 25 68,5 13,5 29,5
DO 19 775 225 38,5
0 0o0DOoon 25 775 22,5 38,5
TIOIT 19 89 34 50
0 D00o0mOo000 25 89 34 50
DO 19 100 45 63
0 000mOmo00oo 25 100 45 63
DO 19 n3,5 58,5 74,5
0 000mOoOn 25 n3,5 58,5 74,5
0L 19 130 75 91
0 000DOoooOn 25 130 75 91
0T 19 150 95 m
0 000mOmo00oo 25 150 95 m
0T 19 175 120 136
0 000Momooo00 25 175 120 136

www.gsb-oilless.com m info@gsh-oilless.com

3.43



—CS3

M306-02

Emniyet Pimleri
Pad Retainer Pins
Steckbolzen

Material : ~~
42CrMo4 B E
800 + 1000 N/mm?

o Material :

CK45
Washer: 5x@13,2x@30

© screw: Mi2x20 DIN 912

0%
RS
KS52%S
| B

o

%
S
R0

5
h I2 I3
|
oooo ; | h I2 Is +c%5 r Dyna(l;l'i‘c)load

32 105 22 58 25 29 4 3
0 000MOmooa0n 32 122 22 75 25 29 4 3
0 0o0mOmo0oon 40 139 32 75 32 37 5 5
0 000000000 40 159 32 95 32 37 5 5

50 167 32 95 40 47 6 75
[ O00MOmo0Onn 50 192 32 120 40 47 6 75
0 D00Omooa0n 63 202 32 120 50 60 6 12,5
0 000MOmooa0n 63 237 32 155 50 60 6 12,5

www.gsb-oilless.com m

3.44

info@gsh-oilless.com



M306-03

Emniyet Pimleri
Pad Retainer Pins
Steckbolzen

0 Material :

42CrMo4

~_~
800 +1000 N/mm? BE
9 Material :

CK45
Washer: 5x@13,2x@30

e Screw: M12x20 DIN 912
g i i
=
(3]
(2]
h I3 I2 I3
oooo ; 1 h 12 Is . g:, s 7 Dyna(T'i::) load
1 OO ER] 32 130 22 58 25 29 4 3
0 000mOmoo0on 32 147 22 75 25 29 4 3
0 0000 [OOoooo0 40 171 32 75 32 37 5] 5
0 000MOmoo00n 40 191 32 95 32 37 5 5
0 000COmO0000 50 207 32 95 40 47 6 75
[ OOOMOCOO00non 50 232 32 120 40 47 6 75
63 252 32 120 50 60 6 12,5
[0 000000000 63 287 32 155 50 60 6 12,5

www.gsb-oilless.com

3.45

m info@gsh-oilless.com




— G ﬁ M307-01

Frenleyiciler
Retainer Bolts
Zugbolzensatz

@9+05

Material:
36NiCrMo4

e e Material: St37 2 Iz

@ Vaterial: Ckas !

e Elastomer 92SH

@oinozscles

@onos e |

A and B are given by the

customer. ‘ b 4&
I
*Respect the max. load. } d
_ |
A=? !
B=? !
I
f [¢]
5
Drill Hole to be made at assembly
s Max. Load
oooo dxt I h I2 105 1] d2 e f g M (kg)
T 22x2 50 35 20 20 50 65 28 30 19 M16 250
0 000mOmo000000 25x2 50 40 20 20 63 82 28 35 22 M20 450
T 30x2,5 50 45 20 20 80 105 28 42 27 M24 750
0 O0NmOmo0o00nn 38x3,5 63 50 28 26 100 130 33 50 33 M30 1250

Order Example:
M= 20, A= 247, B=110

Order Code:
M307-01-20247110

www.gsb-oilless.com m info@gsh-oilless.com

3.46




— G E@ M308-01

Akiskan Yonlendirici
Flux Control
Verteilerblock

Material: ~

= @

I¢
t
“o

= 60 |90 @
29
el ©
30
18
23/8'G |
20 W=
60
@386 | |
e
3
oooo

www.gsb-oilless.com m info@gsh-oilless.com

3.47




Y M308-07

—CSD
Hava Birlestirme Braketleri

Air Coupling Brackets
Luftanschlussbock

Form-A
80 45
J—_:1 4,38
™
F1 # s, 4
o
- @ N -
Material : ~~ T o T
St 37 B E S
50 g 25
Form-B
80 45
8. .« 50 4,1 .38
f=n [ef 9
[
o =
|
44 ot of—T
135/ 80 -H—-—-11+ {10 o o [125
!
o T -
1 ol ?
g
g 25
oooo Form d
A G 3/8”
0 00Omoon B G1/4”

www.gsb-oilless.com m info@gsh-oilless.com
3.48



M309-02

Kizak Stoplama Blogu
Slide Stop Block
Schieberanschlag

80

o Material : ~

D

9 Elastomer 92 Shore

40
‘4@»‘ 21201
| 3 o
©24+0,
60
44
Max. Energy
oooo 00 0Ommo0 Absorbed (J)
0 DO0MOmMoo00 3 48

www.gsb-oilless.com

3.49

m info@gsh-oilless.com




—CS3

Ki

M309-04

zak Stoplama Blogu
Slide Stop Block
Schieberanschlag

Material : ~_
CK45

9 Elastomer 90 Shore

Max. Energy
000 w d | h w1 dh d2 ds 00 OO Absorbed (J)
IO 65 35 60 40 45 27 30 34 52 13
0 000mOmoo000 75 45 70 45 55 36 40 44 9,8 24,5

www.gsb-oilless.com m

3.50

info@gsh-oilless.com



@ M309-05

—CS3
Kizak Stoplama Blogu

Slide Stop Block
Schieberranschlag

o Material: ~
K45 B E
85 40 @ shock Absorber
<25 0\ 7 © veazoinon
6k 11l
— SIS
(; ’
M
65 |
|
T | T
| 20
| 33
1
|
\
I
oooo 00 OOmmo o 8 W 1 0 O0OnOmoomm O O
375 8 7

www.gsb-oilless.com m info@gsh-oilless.com

3.51



— G E M309-06

Kizak Stoplama Blogu
Slide Stop Block
Schieberranschlag

Form-A
155 w s (stroke)
125 215 o\
o Material: ~~ "_" 9
s BE hzi L | | | il
Shock Absorb ‘e Sy
9 ock Absorber e 9\7\
© Mi0x30 DIN 912 in i [ A
L] il L o
I+ i
T == T v
Il [
e t ]
S
I
102 @9
Form-B
155
13,5 220
mi 1 T I
‘e St ig
S R B e
Iw e i
| & [ Sl h
SEn— T
Il [ [
B —— e T T
102 @13,5
Form w h m h2 hs ] D000 00N O00 Max. Stroke (mm)
TI0CT A 46,7 80 47 58 9 210 10,3
T A 47 90 52 68 19 230 7
[0 B 47 90 47 68 18 210 14

www.gsb-oilless.com m info@gsh-oilless.com

3.52



GCS> =2
| ]

Kam Stoper

Slider Stop Damping System

Dampfungssystem Schieberanschlag

0 Material :

S355

Material :
S355

Material :
S355

Material :
$235/DCO1

@45 e Shock Absorber

Material :
M6 DIN 934

Material :
Screw ZKS-M6x10

28,4

R Max. Energy
Fmax. (Kn) Absorbed (J) Max. Stroke (mm)
3.75 8 7

www.gsb-oilless.com m info@gsh-oilless.com

3.53



—CS3

M309-08

Kizak Stoplama Blogu
Slide Stop Block
Schieberranschlag

Material:
$355J2C+C

~
3]D)
9 Screw

M12 x 110 DIN EN ISO 4762

9 Co-Polyester-Elastomer/
TecsPak SD80-9

Elastomer not Included

Screw M8x8
Screws not Included

220

]

e

56

(&

\

[

==

60

\
o

A ————Ft————
Lu ER iz
70 2135
140
113
3
Fmax. (kN) LR [T Max. Stroke (mm)
zaag . Absorbed (J) .
22 60 8

www.gsb-oilless.com m

3.54

info@gsh-oilless.com



° M310-01
| | . ______________________________________________________________________________________________________________|]
CE Makarall Kollu Kaldiricilar

Roller Stock Lifter
Federnde Laufrolle

Form-A
@15
m NZ0Z
: ‘ / 55
\ 29 Material: ~~
-110 \ \ C15 BE
Material:
28 S235JRG2K
1
‘-6" e Material:
; ‘ 42CrMo4
EIOQ @, =
45 I]B 4o O roller
'
= i Q 5o
@ screws Max60 DIN 912
38
50
Form-B
71
38 N
™ ‘ 215
98 , N el 0 \;:} " I 9
s ! / 55
@9
~162
28
16,
zal
| | {} @ 28
45 ‘ ‘ — 118 40
EeemmemremEe e
) 5] N
38
50
oooo Form
A
0 000MOmon B

www.gsb-oilless.com m info@gsh-oilless.com

3.55



—CS3

M310-01

Makarall Kollu Kaldiricilar

Roller Stock Lifter

Federnde Laufrolle

Material: ~~
cis B E
Material:

S235JRG2K

9 Material:
42CrMo4

e Roller

9 Spring

@ screws Max60 DIN 912

215

-105 b\e

2
3
|
O
45 | ‘ | T 18 128 |40
it !
o #
38
50

Form-D

I
"o

/ 55

29

B 215
n \
82 _ ‘
i
-135
28
16
OO
a5 ‘ | : | > 118 % a0
B e e g e ey P
‘ L] U
“ 3B
50

Form

www.gsb-oilless.com m

3.56

info@gsh-oilless.com



— Gﬁ M310-01

Makarali Kollu Kaldiricilar
Roller Stock Lifter
Federnde Laufrolle

Form-A

215
iV n \ 9
‘ / 55
i
! Material: ~
cs
o 3]D)
-1o \e Material:
S235JRG2K
28
eMateriaI:
«716 42CrMod
il |{}1 @ e O roller
o gl i 18 |~ a0 © soring
e '
| @ screws Max60 DIN 912
38
50
Form-B
<7 A
38 -
7 - ) ‘ 215
98 , - 3 m NZ0Z
AN ‘ 55
\/ \_/ I i/
@9
162
28
16
45 | 40

Form

www.gsb-oilless.com m info@gsh-oilless.com



—CS3

M310-01

Makarali Kollu Kaldiricilar
Roller Stock Lifter
Federnde Laufrolle

Material: ~~

SO >

Material:
S235JRG2K

Material:
42CrMo4

e Roller
e Spring

e Screws M8x60 DIN 912

Form-C

~105

wss
%

82

Form-D

45

~135

Form

O oooroo

www.gsb-oilless.com m

3.58

info@gsh-oilless.com



M310-01

Makarali Kollu Kaldiricilar
Roller Stock Lifter
Federnde Laufrolle

-110

Form-A

o | il w@l@

40

Form-B

98

29
162
28
% 16
] er=i =N
(N ) [ {}@ 28
46!5 r‘ﬁ T n L 1 L 18 40
e e e i pe e e e B AL
o7 pu>
38
50

Material:
C15

e Material:

S235JRG2K

~_~

3]0

Material:
42CrMo4

e Roller
e Spring

Material:
Steel

e Screws M8x60 DIN 912

Form

www.gsb-oilless.com

3.59

m info@gsh-oilless.com




GCS> ——
| | . ______________________________________________________________________________________________________________|]
Makarali Kollu Kaldiricilar

Roller Stock Lifter

Federnde Laufrolle

Form-C

82

SSHraw W B
N : | }5
~ g v ., W

cis Bm
g Material: ~105 é
S235JRG2K
e Material: 28

42CrMo4 16

e Roller
e Spring
@ Material:

Steel
38
@ screws M8x60 DIN 912
50
Form - D
181 215
n NZRZ
82
‘ / 55
|
29
-135
28
46,5
50
Dooo Form
I C
0 DO0MOmog D

www.gsb-oilless.com m info@gsh-oilless.com

3.60



© M310-03
Y C
C E Makarali Sartict Uniteler

Roller Group
Forderrolle

R R . -
I‘i" Steel BE

25,4

0oao

GCS3 =
|

Bilyal Tasiyicilar

Ball Carriers

Kugelrollensystem

d2
hs [hz
hi
h
Material : ~~
Steel a m
el
Max. Load
oooo d h i d2 11} h2 hs (daN)
15 215 24+0,065 31 28 9,5:0,2 35 50
0 OOOmOmOOo 30 375 450,080 55] 4 13,8+0,3 4,3 250

www.gsb-oilless.com m info@gsh-oilless.com

3.61



— G E M310-05

Celik Makaralar

Steel Roller
Stahlrolle
24
L0
©
IS
| o
= — — N B
Q| ®
Material : ~~
Steel BE
15
Max. Load
oooo S
i 25

— GE M310-06

Plastik Makaralar

Plastic Roller
Plastikrolle
24
I
|
I
n
‘ ol
L 9
Material : ~_~ o ‘
Polypropylene am g s ~ - ——
N
17
Max. Load
oooo (daN)
0 0O0mOmm 20

www.gsb-oilless.com m info@gsh-oilless.com

3.62



y M310-08

X C
cCS3
Roller
Rolle

Material:

(1] ~—
Steel+Vulkollan BE

@ Roller Bearing 6200 2RS

© 100472

HAF— =i @10 |50

Max. Load
oaooo (daN)

70

www.gsb-oilless.com m info@gsh-oilless.com

3.63




—CS3

M310-08

Makarali Sariict Uniteler

Roller Group
Forderrolle
o)
0 Material: ~_~ ‘ ‘
s5t37 ﬂ E 70 40
ee Washers for M6 Form-B
O Nut for Ms !
\ 100 ) 100 <25
e Screw M6x40 DIN 912 | ‘ ‘
@ Material: Steel -
M310-05-001 f i i i
I T
L g 30
70 90
Forrln -C
} 100 ]— 100 ‘ 100 ‘ 25
i i | |
— i - B
Vo oF o
40 70 70 40
oi\ 34,5_15 /g
a7
P = lea
040 “ 0
- 0
6
@9
10
30
oooo Form I Max. Load (daN)
A 150 50
0 DO0MOMOamon B 250 75
€ 350 100

www.gsb-oilless.com m

3.64

info@gsh-oilless.com



. M310-09
G E Destek Kolu

Coil Support
Abstreifer
o Material : P
CK45 BE
9 Material: Bronze - HB>190
9 Spring
O MoxsDIN 913
‘T‘ 45 © 212160 DIN 6325
P ] 121
! D13(x4) !
‘ 15x45° ‘ 5x45°
!
PN VA
19 W
N Iy
25l {f*f*f*f*f*f*‘ﬁ*%ﬁf*" 45 |65
-
@1 R
L I\‘M
55 12,5
95
. Spring Spring
oooo ! g Spring Inital Force (N) Final Force (N)
DO 250 18 TV016044 79 123
0 000mOmoman 250 18 B16044 270 420
IO 300 30 B16044 240 420
www.gsb-oilless.com info@gsh-oilless.com

3.65



9 M310-10
s =
CE Makarall Surtcd Unite

Roller Drive Unit
Rollenantriebseinheit

Steel or Resin e

(POM) BE

@ stee!
9 Steel

e G Type Retaining Ring (G-8)

16
&
8

oooo F max Type
I 16 Steel
0 0o0mOm00000 16 Resin

www.gsb-oilless.com m info@gsh-oilless.com

3.66



C ﬁ I
| | . ______________________________________________________________________________________________________________|]
Elastomer Yaylar icin Sabitleme Pimleri

Pin for Elastomer Springs
Aufnahmebolzen

!
Material : ~_~
CK45 B E
h
|
& I2
M
di
d
- s
oooo d I h I2 ch M H Elast::mer
0 000000000 28 56 30 8 19 M12 6 63
0 000000000 32 74 40 10 22 Mi6 8 80-100
D 000D0mo0000 38 100 55) 15 28 M20 10 125-140

www.gsb-oilless.com m info@gsh-oilless.com

3.67



GCS> —
| ]
Elastomer Yaylar icin Sabitleme Pimleri

Pin for Elastomer Springs
Fuhrungsbolzen

Material : ey U,_,i,,ij
CK45 a E |
|
b |
|
I
|
=
I2 ‘
M

d h I2 M s
6 20 25 32 40 = = = = = = = 6 M4 3
8 20 25 32 40 50 = = = = = = 9 M6 4
10 20 25 32 40 50 63 = = = = = 15 M8 5
13 = = 32 40 50 63 80 95 = = = 15 M10 6
16 = 25 32 40 50 63 80 95 18 140 180 18 M12 8
20 = = 32 40 50 63 80 95 18 140 180 25 Mi6 10
25 - - 32 40 50 63 80 95 18 140 180 30 M20 14

Order Example:
d=10, h= 50

Order Code:
M311-05-10050

www.gsb-oilless.com m info@gsh-oilless.com

3.68




GCSS s
| ]
Emniyet Civata ve Rondela Setleri

Retainer Bolt Sets
Zugbolzensatz

Material : ~

5

@ oinozcl 129

M
| © Material: Ck45
T
Min. 1,5 Times Screw Dia. for Steel ‘ e DIN 127
Min. 2 Times Screw Dia. for Cast Iron
R d A and B are given by the
i customer.
7 I
) i
Max. Load
oooo dxt ch M s s1 (ka)
IO 16x2,5 25 M10 4 56 100
0 O0OOOroO0000nn 20x3,5 30 M12 6 77 150
[0 28x5,5 40 Mi6 6 8] 250

Order Example:
M=12, A=110,B=76

Order Code:
M312-03-12110076

www.gsb-oilless.com m info@gsh-oilless.com

3.69




GCSS —
| ]
Emniyet Civata ve Rondela Setleri

Retainer Bolt Sets
Zugbolzensatz

“ Material : ~~
St37 B E

@ ooz 129 M
e Material: Elastomer 92SH ;
e Material : CK45 Min. 1,5 Times Screw Dia. for Steel i
Min. 2 Times Screw Dia. for Cast Iron \

oz d
I
A and B are given by the ‘
customer. e i
"7 I
I

‘ A=?
I

‘ t B=?
9\ ‘
I
B | ,
S | s
e/ @
000 dxt di M s 5 Ma)((l.(lg.;)ad

I 16x2,5 32 M10 4 6,5 100

0 0000000000 20x3,5 36 M12 6 8,5 150

T 28x5,5 45 Mi6 6 9,5 250

Order Example:
M=12, A=110,B=76

Order Code:
M312-08-12110076

www.gsb-oilless.com m info@gsh-oilless.com




M313-01

Emniyet Setleri icin Borular
Spacer Tubes
Distanzbuschse

Material :
St35.4

Order Example:
di= 20, 1= 80

Order Code:
M313-01-020080

3P

Different lengths on request.

o

6,4

22

26

32

16 20

25

30

36

42

oomo

M6

M10 M12

M16

M20

M24

M30

1x0,1

27

30

33

38

40

44

48

50

61

63

70

72

80

90

95

100

105

15

125

135

150

155

175

195

200

215

225

235

250

255

www.gsb-oilless.com

3.7

m info@gsh-oilless.com




° M313-02
1 C
CE Emniyet Setleri icin Borular

Spacer Tubes
Distanzbuschse

d1
d
|
l
|
|
Material : ~~ !
St35.4 a m ‘
Surface hardened. !
HRC 56 + 60 ‘
Different lengths on request. !
Order Example: !
di= 20, I=80 ‘
Order Code: \
M313-02-020080
0 6,4 9 n 13 17 22 26 32
o 10 13 16 20 25 30 36 42
000 M6 M8 M10 M12 Mi16 M20 M24 M30
1x0,1
27 .
30 . .
33 . . .
38 . . .
40 . .
44 . . .
48 . . . .
50 . . . . .
61 . . . .
63 . . . . .
70 J g
72 . . . . . .
80 . . . . . . .
920 . . . . .
95 .
100 . . . . . .
105 .
15 .
125 . . . . .
135 .
150 . . . . . .
155 .
175 . . .
195 .
200 . . . . . .
215 .
225 . . .
235 .
250 . . .
255 .

www.gsb-oilless.com m info@gsh-oilless.com



GCS> ey
| | . ______________________________________________________________________________________________________________|]
Elastomer Yaylar icin Rondela

Washer for Elastomer Spring
Federscheibe

Material : ~
CK45 B E
d1
d
:
EED d & g Elastomer
(]
0 000mOroo0 6,5 20 4 16
0 000M0mo0000: 8,5 25 4 20
[0 10,5 30 5 25
0 000000000 13,5 40 5 32
0 00000000000 (515 50 5 40
0 000C0mO0000 16,5 60 6 50
0 OO maa/un] 16,5 80 6 63
0 00000000000 20,5 100 8 80
0 OO0 mo0000 20,5 120 8 100
0 0o0mOmO0oon 26 150 8 125

www.gsb-oilless.com m info@gsh-oilless.com



GCS> ==
| ]

Rondela

Washer

Unterlegscheibe

Material : ~~
K45 Bm
da
d
| S
ooog d di H ooog d d H
N0 8,5 20 4 0 000momon 20,5 45 5
0 O00rmon 10,5 25 5 o 2 45 8
0L 135 25 5 Lo (22 5 9
0 000mOmon 13,2 30 5 R 3 & 2
O 20,5 55 5
0L 13,5 30 5
0 0o0oomn: 25 55 10
0 000Domon: 12,5 32 5
0 0oODomon 25,5 55 5
0 12,5 32 6
0 0o0mom: 30,5 55 5
0 000D0mao: 13 32 5
0 000momog 12,5 60 5
i 13,5 32 6
0 000momon 16,5 60 5
10,5 36
lasnsnnnnns] 5 T 125 75 5
o L2 % 3 0 000momog 16,5 75 5
0 OOCCOOCO 16,5 36 5 0 oo 16,5 90 5
o 20,5 36 5 0 0000mon 21 90 5
0 00000moD 17 38 6 T 21 120 5

www.gsb-oilless.com m info@gsh-oilless.com



GCS> e
| ]

Rondela

Washer

Unterlegscheibe

Material : ~
CK45 B E
ds :aRrgir;eg 50
_ d
|
\ s
|
onoo d ch H
0 000m0mog 6,4 17 3
0 0oomOmon 84 23 4
0 OO00OmOn 10,5 26 4
0 DoOmomoo 13 30 5
17 35 4
0 DO0O0mog 17 35 5
0 0O0Ooon 17 55 6
0 0OOmoman 21 42 8
0 OOOMOon 21 46 6
0 OoO0momog 25 46 10
0 D00mOmod 25 55) 10

www.gsb-oilless.com m info@gsh-oilless.com



— Gﬁ M316-01

Kavrama Plakalari
Coupling Plates

Befestigungsplatte
Material : ~~
CK45 a m
d2
|
|
‘ h
T
di w2
I2 |
I3
h
wi
w
ooog w h I h I2 I wi w2 h h2 ch d2 r Screw
0 000MOmOD 80 25 50 1,5 27 30 57 38 n 15 n 17 14 M10
0 DODmOrmoD 100 32 55 12,5 30 35 75 50 15 20 13 20 20 M12
0 CoDmOm 120 40 65 16 33 45 88 60 20 24 17 26 25 M16
0 DODOmen 150 45 100 18 64 64 na 80 20 19 21 33 33 M20

www.gsb-oilless.com m info@gsh-oilless.com

3.76



GCS> L
| ]

Kavrama Somunlari

Coupling Nuts

Kupplungsmutter

fewrench Flaty

d| & F-——-—F |M[d

@ Vaterial: =
CKd5 BE

@) DINEN IS0 8752

*Slotted Pin - will be supplied
with coupling nut.

.
|
@
o
T
1
[P ——————————
'
s
oo d I I Iz Is P d2 f M Alr Cy1. Bore Size
0 0o0mOmon 35 30 10 16 = 25 30 24 M10x1,25 32
0 0000 35 30 10 16 24 25 30 24 M12x1,25 40
0 000mMOmon 47 40 14 19 36 37 42 36 M16x1,5 50, 63
O DO0MOmog 47 40 14 19 36 37 42 36 M20x1,5 80, 100
47 40 14 19 36 37 42 36 M27x2,0 125
0 OO0M0mon 57 50 19 24 45 47 52 46 M36x2,0 160, 200
76 76 19 50 55 59 64 60 M42x2,0 250

www.gsb-oilless.com m info@gsh-oilless.com




—CGS3

M317-04

Kama
Key
Passfeder

Material :
CK45 a E

0ooo o h |
0 000mOmo0oo0g 25 25 80
0 000moooom 25 25 125
0 O00mOmOo0000 30 30 80
0 000mOmo0oo0g 30 30 125

www.gsb-oilless.com m

3.78

info@gsh-oilless.com



M317-05

Kama
Key
Passfeder

~

‘015 @15
L | o
I I
| | |
T T T
cx45° - !
M10 29
@ :
- - N
N

Material : ~

= @

oooo h I h c
0 000m0Moo0mD 14 50 32 -
0 0o0momooon 14 80 50 =

| 14 100 80 -
0 00000oo0n 14 125 100 -
0 O00mOmO0000 22 50 32 4
0 000mOmo00oo 22 80 50 4
0 DOOmOmOo0D 22 100 80 4
0 D000moo000 22 125 100 4
0 000M0mOo000 40 50 32 4
0 0o0DOmooOm 40 80 50 4
0 000m0mo000o 40 100 80 4
0 000D0ooOn 40 125 100 4

www.gsb-oilless.com

3.79

m info@gsh-oilless.com




9 M317-07

—CSD
Kama

Key
Passfeder
Form-A
0
§
Material : ~~
CK45 a E 2
W o 210
16 5
e
0
Form-B o
Q
20 6
<8+
©
Form-C S|
Q
(=2}
I T 711
-
20 7
10 =
oooo Form
0 0000mOoo0ng A
0 000000000 B
0 000000000 €

www.gsb-oilless.com m info@gsh-oilless.com

3.80



o M317-08

—CSD
Kama

Key
Passfeder
Material : ~
90MnCrv8 a E
Hardened
HRC 58 + 60
Form-A Form-B
35-0,2 60-0,2 ‘
© s B ! ‘
o ©
& @ & @i}
~N
R | Y
[/ove] % /owe] %
< -  «MIO &4 - =MI0
25 25 E
1 | 1
= 014 '= ~'014'=
0oog Form
0 0000000 A
0 000000 B

www.gsb-oilless.com m info@gsh-oilless.com

3.81



—CS3

M317-10

Kama
Key
Passfeder

Material : ~~

@9

Mio

20

| &

SE=—1-

on

80
|
w
oooo ho h |
0 DO0MOmo00 42 40 125
0 0000 50 48 135
0 D00MOMO000 50 48 220

www.gsb-oilless.com m

3.82

info@gsh-oilless.com



. M317-11
| ]
CSo
Key
Passfeder

it Material : ~

h _,,4 K4
A ckas BE

M8 o

Form-A w @ e} @

Form-B

oooo Form ot h 1 h n di d> t

0 OO0 o00000 A 25 38 90 50 25 n 18 15
0 0000000000 A 25 38 120 80 25 n 18 15
0 D000 MO00000 A 32 48 150 90 35 13 20 25
] 0000mO000o00 A 32 48 210 130 35 13 20 25
A 32 58 260 150 42 13 20 25

0 0o0mOmo0o00n B 32 58 310 220 42 13 20 25
0 000MOmo00000 B 32 58 350 250 42 13 20 25

www.gsb-oilless.com m info@gsh-oilless.com

3.83



—CS3

M317-12

Konumlandirma Blogu

Locating Block

Fangbacke
Material : ~~
16MnCr5 BE
Hardened
HRC 60 + 62
150
I /’i[j
— 926 5
i !
I
50 |
i | i 75 i
; i ”;” | i | /
| [ Zh7Z
f ‘ T sy [ |
— M6 —! 2175 |-
| w
w
oooo 16 | h
0 0000OmO0000 45 100 60
0 000M0mO00000 45 125 85
0T 45 160 120
0 00000000 45 200 160

www.gsb-oilless.com m

3.84

info@gsh-oilless.com



— Gs M317-16

Kama
Key
Passfeder
190 32h0
150 25 |
@20
28 hl 40 2135 . Material : ~—~
2x45°(x2) 1.0503 (C45+C) B E
aooo
——
GCSD =
[ ] [ | . ______________________________________________________________________________________________________________|]
Kama
Key
Passfeder
19041
9\ 30:015|  §25
5 ‘ TT TT 7! ‘
o/ q,r} Material : 2
& S355MC (t=5 mm) am
27[ }l |§ 9 Material :
$235 JRC+C
212:015
234
0ooo
[

www.gsb-oilless.com m info@gsh-oilless.com

3.85



—CS3

M318-03

Stoplama Bloklari

Balance Blocks
Distanzstlick

Material :
CK45

Screws not included.

G

60 x 40

100 x 40

100 x 50

120 x 60

150 x 80

160 x 100

14

14

14

18

18

20

20

20

26

26

85

10

160

270

380

76

93

120

130

6|22

|42 6|22|42

22|42

18 38

[0 ome

20

20,3

20,5

23

25

28

30

30,3

30,5

B8

35

38

40

40,3

40,5

Zll

43

45

48

50

50,3

50,5

51

55)

60

60,5

61

Order Example:

Order Code:

1=150, h= 80, h= 40

M318-03-15008004000

www.gsb-oilless.com m

3.86

info@gsh-oilless.com



GCSS =
| ]

Stoplama Bloklari

Balance Blocks

Distanzstuick

O
‘N |
h ‘
|
> led
Material : ~_
K45 B E
Screws not included.
| IS0
I2
I
oooo | h I2 d d2 Screw Max. Load (t)
60 40 40 9 15 M8 50
0 D00M000000000000 80 40 56 n 18 M10 65
100 40 71 14 20 M12 85
0 DO0MOmo0000000 100 50 76 14 20 M12 no
0 OO0 OOo00o000 120 60 93 14 20 M12 160
0 000MOmO00000000 150 80 120 18 26 Mi6 270
160 100 130 18 26 Mi6 380
M8 M10 M12 M16
h
0,05 h hi hi h
=20-40 10 8 6 o
>40-60 28 25 22 18
>60 - 80 48 45 42 38
>80 -100 68 65 62 58
>100 - 120 68 85 82 78
>120 - 140 68 105 102 98
>140 - 160 68 105 122 n8
Order Example:
1=150, h= 80, h=85
Order Code:
M318-03-15008008500

www.gsb-oilless.com m info@gsh-oilless.com

3.87



GCSS —
| ]

Stoplama Bloklari

Balance Blocks

Distanzstuck

d
- A2 -
(1]
|
i h n
Material : ~_~ _L—
K45 a m ‘
Screws not included. %‘=
- di =
[u} 60 80 100 120 150
! 14 18 18 22 22
0 20 26 26 33 33
0 DOOO0MD 55 100 170 250 400
0 12 | 22 | 42 20 36 20 36 15 30 15 30
(IO oo
25 . .
28 o 0
30 g .
30,3 g .
30,5 . .
33 . .
55 . .
38 . .
40 . . .
40,3 . . .
40,5 o 0 o
4 . . .
43 . . .
45 . . .
48 . . .
50 . . . . .
50,3 . . . . .
50,5 . . . . .
51 . . . . .
55 . . . . .
60 . . . . .
60,3 . . . . .
60,5 . . . . .
61 . . . . .
Order Example:
d=80, h= 45
Order Code:
M318-05-08004500

www.gsb-oilless.com m info@gsh-oilless.com

3.88



GCS> ——
| ]

Stoplama Bloklari

Balance Blocks

Distanzstlck

d
o 02
[—_] Material : ~
‘ CK45 B E
‘ hi h Screws not included.
|
|
|
i
L
-l d -
oooo d di d2 Screw Max. Load (t)
0 000DOmOn00000 60 14 20 M12 50
0 000DOMo00000 80 18 26 Mi6 65
0 000D0MO000000 100 18 26 Mi16 85
0 000MOMmO000000 120 22 B8 M20 1o
0 000M0MO000000 150 22 5g) M20 160
M12 M16 M20
o 60 80 100 120 150
:DITOS h 1] h
=25<40 12 = = =
=40-60 22 20 20 15
>60 - 80 42 36 36 30
>80-100 62 56 56 50
>100 - 120 82 76 76 70
>120 - 140 102 96 96 90
>140 - 160 122 ne ne 1o
Order Example:
d=80, h=105
Order Code:
M318-05-08010500

www.gsb-oilless.com m info@gsh-oilless.com

3.89



GCS> e
| ]

Stoplama Bloklari

Balance Blocks

Distanzstlck

d
- 015 «
T
|
I h h
o
Material : ~~ ‘
CK45 a m i
Screws not included. +
- 091«
0 25 30 40 50
[ QOO0 B15) 8 20 35
O 10 28 10 28 10 28 10 28
Ooomo
20 . . . .
20,3 . . . .
20,5 . . . .
23 . . . .
25 . . . .
28 . . . .
30 . . . .
30,3 . . . .
30,5 . . . .
33 . . . .
35 . . . .
38 . . . .
40 . . . .
40,3 . . . .
40,5 . . . .
41 . . .
43 . . .
45 . . .
48 . . .
50 . . .
50,3 . . o
50,5 . . .
51 . .
55 . .
60 . .
60,3 . .
60,5 . .
Order Example:
d=50, h= 45
Order Code:
M318-06-05004500

www.gsb-oilless.com m info@gsh-oilless.com

3.90



M318-06

Stoplama Bloklari
Balance Blocks
Distanzstlck

215 -

h

EE— 1 —-

Material : ~

L

Screws not included.

ooog d Screw Max. Load (t)
25 M8 1515
0 00000000000 30 M8 8
40 M8 20
0 00000000000 50 M8 35

h
0,05 (i
=220-40 10
>40-60 28

Order Example:
d=50, h=45

Order Code:
M318-06-05004500

www.gsb-oilless.com

3.91

m info@gsh-oilless.com




—CS3

M318-07

Silindirik Stoplama Blogu

Cylindrical Stop Block
Abstandsblock
Material : ~~
42CrMod a m
Hardened
HRC 46 + 48
d
@23
|
! 18
1
213
oooo d h
0 0o0mOmO0oon 80 25
0 DO0mOmoo00n 80 30
100 25
0 0O0O0rOo00n 100 30
0 DO0MOmoo0o 120 25
0 000MOmoo000 120 30

www.gsb-oilless.com m

3.92

info@gsh-oilless.com



M318-08

Bosluk Ayar Plakasi
Shim
Unterlegscheibe

213

Material : P

Steel or Brass B E

ooog d s Material
0 0000000 80 01 Brass
0 000000000 80 0,5 Steel
0 DO0MOmo00m 100 01 Brass
0 000OooOOn 100 0,5 Steel
T 120 01 Brass
0 000000000 120 0,5 Steel

www.gsb-oilless.com

3.93

m info@gsh-oilless.com




GCS>D s
1 ]
Baski Plakasi
Pressure Plate
Druckplatte
Material : >
16MnCr5 BE
Hardened
HRC 58 + 60
o S
oooo d i b
0 000MmOmOo00 65 <25 42
0 00000 95 =50 72

www.gsb-oilless.com m

3.94

info@gsh-oilless.com




Y M319-01

Sabitleme Kelepceleri

Coupling Clamps
Befestigungselement

©6,5+01

|
il
s

/‘D(745+0,1
i J i 100 1
o Material : >

I [ L
& | W 60 Do Ckas BE
;E,,%,Li,,k,# 33
14

92| 87

@ M12x70 DIN 931 (88)

e

3
o j;
I

40 @ 5
67
80
Y M319-01
GE Bilyal Yatak

Sleeve
Fuhrungseinheit

%)( ?
XXX XXX
3
v N - ft— - —— - - - —— 1 f—
SR
. 0
XXX XXX Material :
CK45
: @ s1AR 0658-225-40
il
|
oooo | h
n2 40
0 000MOmo00oo 200 120

www.gsb-oilless.com m info@gsh-oilless.com

3.95




— Gﬁ M319-02

Disli Ayar Plakalari
Spacer Plates, Toothed with Adjusting Plate
Distanzplatten Gezahnt

211
T i
Ao TAALIIII00 144, 2
i ]| | (1 ! u
T T
@18
|
Material : ~ m
P9 90MnCrv8 BE
Hardened
HRC 58 + 60 |
2 )
o
Screws not included. o . -
=1 N N
9 Material : ! o~ }‘ AT 35
X155CrVMol2 =i X Is
@ M10x20 DIN 912 N | &
5 N o]
2 N\ I
<
=
h ©
4
|
12
HHHHHHHHHHHH}HHHHHM
0
ﬁiilllHHHHHHH}HHHHL‘g‘T‘w w
f () ssssta1 1) Z w
20] [ ‘
M10
la
|
Basis : 0,02 mm per tooth
3
= i< - 12 increments each of 0,02
mm means an adjusting range
, of 0,24 mm with a minimum
ET’_E@ support area of 60 x 80 mm
< = +
o oY
X Basic setting in the middle (grinding-in) mt‘n 'gcgaegea”rfzzjajshﬁ‘;;orfnzge
+ Adjusment to the right - plus of 0,28 mm with a minimum
— Adjusment to the left - minus support area of 100 x 80 mm
oooo w I h I2 Iz la w1 hmin. hmax.
00 60 130 90 90 16,04 61 30 34,88 3512
0 OOOMOOMOOOOd 80 160 120 110 16,16 71 40 34,86 3514

www.gsb-oilless.com m info@gsh-oilless.com

3.96



GCS> —
| | . ______________________________________________________________________________________________________________|]
Kam Hareket Mesafesi Ayar Plakalari

Cam Pad Guide Wear Plates
Fahrung far Ziehkissen

Form-A
& h ‘
w[ +  %Id T Form-C
|
'f\)ﬁ i
I2 ‘
O
Material : ~
I Bronze with B E
Form-B ‘ b2 Non-liquid Lubricant
) HB >190
o I |
N " ®
g
.::“G} | b2
w —_—r - -—-—0 b2 ‘
I e
{G}» b ‘{} b
I2 12
I3 d
O ‘
Ve'e! Ihw h
v 4
l4
oooo Form | W h 1 I Iz Is ls d [ br o2
A 30 17 70 30 20 40 50 n 12 = =
0 0O0mOm00000 A 30 17 90 50 20 60 70 n 12 = =
0 DOOMOO0000 B 45 25 70 30 20 40 50 n 15 15 22
0 00000000000 B 45 25 90 50 20 60 70 n 15 ns 22
B 60 35 120 40 40 60 80 13 25 15 30
0 0O0mOrmo0oan B 60 35 140 60 40 80 100 13 25 15 30
0 000D [OO0000 B 60 35 160 80 40 100 120 13 25 15 30
0 0o0mOmO0000 B 100 35 120 40 40 60 80 18 25 15 70
D OO0MmOmoo00o B 100 35 140 60 40 80 100 18 25 15 70
0 000MOmo0000 B 100 35 160 80 40 100 120 18 25 15 70
IO C 150 35 120 40 40 60 80 18 25 15 60
D 000000000 C 150 35 140 60 40 80 100 18 25 15 60
0 0000000000 € 150 35 160 80 40 100 120 18 25 15 60
0 OOOOOmOOoin © 150 B5) 180 100 40 120 140 18 25 15 60

www.gsb-oilless.com m info@gsh-oilless.com

3.97



Y M320-07

—CSD
Zorunlu Doénus Destek Plakalari

Positive Return Plates, Steel
Zwangsrickholer

Material : ~~
CK45 B E
Hardened

HRC 52 + 54

w 29

Length (1) is given by the |
customer.

20 Uy W
o | 20
X ! HRC
3 H
| e
101=? {} i ‘ 7&'
- & e lo o B
g ek sl
& } 10 i
18 1 i
|
2]
b 11
oooo v: b c
T i35) 15 7
0 0o0OOrooom 60 40 10

Order Example:
w=35,1=110

Order Code:
M320-07-035110

www.gsb-oilless.com m info@gsh-oilless.com

3.98




o M321-01
| ]
Cs Bosluk Ayari icin Profil

Spacing Bar
Abstellbolzen

I

| -

|

slo ///o
kg .
RO
125 i T{} 70 _
o Material : ~
85 \e St 37 B E
_7:0?,'3 9 Hinge
70 : Material :
Elastomer 68 Shore
@ screw Maxg DIN 912
[F—
26
ol 120,05 Ma:(l.(;c))ad oooo 1£0,05 Ma:(l.(;t;ad

0 0o0mOmo0oan 65 125 0 OOC mOo0on 190 125
0 000000000 70 125 0 000mO0mo0000 195 125
0 000000000 75 125 0 OO0 mo0o0n 200 125
0 0o0mOmo0o0n 80 125 0 OOOmOrmOoaon 205 125
0 0000000000 85 125 0 0000 mo0oon 210 125
0 000mOm0o00g 90 125 0 000000000 215 125
0 OO0 00000 95 125 0 COCCTT oooon 220 125
0 000MOmo00og 100 125 0 OODmOmo0oan 225 125
0 Do0mOmOOn 105 125 00 OOCC mOooon 230 125
0 DO0OOmoo0a0 1o 125 ] OOOMOmO0000 235 125
0 00000000 ns 125 0 0000 00000 240 125
0 0000 120 125 0 OOOOmOoaoa 245 125
0 DODOOmO00m 125 125 0 0000 o000 250 125
0 DO0D0modo00 130 125 0 00OmDmo0000 260 125
0 DO0MOMO000d 135 125 0 DOOMOO0000 270 125
0 000MOmo00oo 140 125 0 DODMmOmo000] 280 125
0 DoOmOmOn 145 125 0 OOOmOmooaoa 290 125
0 DOD0MOo0000 150 125 0 DODMOmOaoa0: 300 125
0 DO0MOmoo0o 155 125 0 DONOOmO0000 310 125
0 0O0OOOOn 160 125 0 DOOOOCO0oen 320 125
0 DO0MOMoo00 165 125 0 OOOOOMO0000 330 125
0 DO0D0mo0o00 170 125 0 D00D0mo0o00 340 125
0 0OOMmOO000a 175 125 0 0OOMmOmOo00a 350 125
0 000MOmo000o 180 125
0 0OOOOOOOn 185 125

www.gsb-oilless.com m info@gsh-oilless.com

3.99



Y M321-01

—CSD
Bosluk Ayari icin Profil

Spacing Bar
Abstellbolzen

5

~_~

o Material :
St 37 BE
I=2 50

Q Hinge

1

Material : l
1

|

1

Elastomer 68 Shore

> U;X;

O screw M4xs DIN 912

Length (1) is given by the
customer;
125 40
Max. Length: 365 mm
wi -
26
O o 5 Max. Load
oood (kN)
70 50 3 125
0 D00MOmoom 100 60 8 250

Order Example:
w=100, I= 200

Order Code:
M321-01-100200

www.gsb-oilless.com m info@gsh-oilless.com

3.100




© M321-02
| | . ______________________________________________________________________________________________________________|]
Cs Montajli Profil Gévde

Pipe with Assembly
Klapprohrkorper mit Baugruppe

IT
N
®b
" o
H | B
oA} 11 @5 Ial
& = 17,5
)
25| oY 125 125
30 Material : >
S2350R B E
70
16,2 Material :
1.4310

Material :
50 $235/DCO1
o5 (4]
NS

Qﬁg’% Material :
Soft-PVC

Material :
30 M6 DIN 934
37 Material :

Rivet @5x14 DIN 7337

oooo 10,05 Maa.(::ad R 1£0,05 Maa.(l';:ad

I 65 235 0 D00MOM00000 185 235

] DO0OOmo000g 70 235 ] 000000000 190 235
I 75 235 0 DO0MOM00000 195 235

1 OO0OOmO0000 80 235 ] 000000000 200 235
I 85 235 0 DO0MOM00000 205 235

] DOOOOmO000d 90 235 ] 000000000 210 235
I 95 235 0 DO0MOM00000 215 235

1 OOOOO0000 100 235 ] 000000000 220 235
105 235 0 DO0MOM00000 225 235

0 DODD0mo0000 1o 235 ] 000000000 230 235
15 235 0 DO0MOM00000 235 235

0 000000000 120 235 ] DOOMOmo000d 240 235
125 235 0 DO0MOM00000 245 235

0 DODOMO0000: 130 235 ] 000000000 250 235
135 235 0 DO0MOM00000 260 235

0 OO0COOCOOOn 140 235 ] 000000000 270 235
145 235 0 DO0MOM00000 280 235

0 DODD0mO0000 150 235 ] DOOMOmo000d 290 235
155 235 0 DO0MOM00000 300 235

0 DODOmWO0000 160 235 ] 000000000 310 235
165 235 0 DO0MOM00000 320 235

0 DODOMO0000 170 235 ] 000000000 330 235
175 235 0 OOOMOOOO000 340 235

0 0O0CO0COOOn 180 235 0 Do0COmOOn 350 235

www.gsb-oilless.com m info@gsh-oilless.com

3.101



°© M321-03
| ]
CE Montajli Profil Gévde

Pipe with Assembly
Klapprohrkorper mit Baugruppe

| D
6
N
7 6
; = Ao /49
A o
\r j 41 25 [
= s
12,5 ’{? 125 125
o Material : = Pl QY ’ ’
S2350R B E 30
70
Material : 16,2
14310
1
M N
Material : 3
o $235/DCO1 50
@5
. IS =
Material :
Soft-PVC
Material :
M6 DIN 934 0
Material : 37
Rivet @5x12 DIN 7337
Max. Load Max. Load
|+
0oog 1£0,05 (kN) oooo 1£0,05 kN)
0 DOm0 65 125 0L 185 125
0 0o0D0OOn 70 125 0 00000000 190 125
I 75 125 0 OO 195 125
0 00000000 80 125 0 O0OCOOCO0000D 200 125
0 000000000 85 125 0 000Momo0om 205 125
0 000mOmo0o00 90 125 0 000M0mo0000 210 125
0 00OO0mOO0a0 95 125 0 DOOC00COO0000 215 125
ilasaanassannna} 100 125 0 000MWOMoo00: 220 125
0 0O0mOmo000n 105 125 T 225 125
0 000mOmo00oo 10 125 0 OO0mOmoon 230 125
I 15 125 0 000MmOmO00aD 235 125
0 OO0 OO0 120 125 0 0000000000 240 125
0 DOODOOOn 125 125 0 O00MOo0000 245 125
] DOOCOOOO00D 130 125 0 000DOoon 250 125
0 00000 135 125 i 260 125
0 000000000 140 125 0 000mOmo00oo 270 125
0 OOOMOMO0000 145 125 0 0oODOoOn 280 125
0 000MOmo0o00 150 125 0 000Mm0Mmo0o00: 290 125
T 155 125 0 000Momoo0o 300 125
0 0O0DOmMoo00 160 125 0 000000000 310 125
0 O00OOMO00a0 165 125 IO 320 125
0 DODMOOm0000 170 125 0 000mOmo00on 330 125
0 DO0MOMO0000 175 125 D D00OmOo00o 340 125
] 000000000 180 125 0 00000000 350 125

www.gsb-oilless.com m info@gsh-oilless.com

3102



GCSS L
| ]

Profil 5x50x70-L480

Laser Cutting Part

Rohrlaserteil

Material: ~

S2350R B E

|
ol

%}\Q‘Zl

35 50

oooo 10,05

0 OO0Omomen 480

www.gsb-oilless.com m info@gsh-oilless.com

3.103




M321-04

Profil 3x50x70-L480
Laser Cutting Part
Rohrlaserteil

Material:
S235JR

3]0

35

50

70

0ood

1+0,05

O O00m0mo0:

480

www.gsb-oilless.com m

3.104

info@gsh-oilless.com



— Gﬁ M321-05

Genislik Ayar Profili Set 5 mm
Pipe Box Set 5 mm
DIY-Klapprohr-Box 5 mm

Y

e

' ARG

SN
\9 Material : ~~
(1 Ny S2350R B E

Material :
14310

Material :
$235/DCO1

Material :
$235/DCO1

Material :
Soft-PVC

a%‘,

L
|
o

35 50
70
ooao
u} 0 D000 50 adet / pcs
u] 0 000momo 100 adet / pcs
a] 0 O0momn 100 adet / pcs
u] 0 000momo 100 adet / pcs
a] 0 O0momn 4 metre / meter

www.gsb-oilless.com m info@gsh-oilless.com

3.105




M321-05

Genislik Ayar Profili Set 3 mm

Pipe Box Set 3 mm

DIY-Klapprohr-Box 3 mm

- - -\,_bl
Y
e
o 35 \ 6
\
& 1
SN
“ Material : ~~ @
S235JR B E
Material :
14310
Material :
$235/DCO1
Material :
$235/DCO1
Material :
Soft-PVC
~
P @/9
|
b4 1
T e 3
35 50
70
ooao
u} 0 D000 50 adet / pcs
T 100 adet / pcs
u} 0 OOOMOOmn 100 adet / pcs
T 100 adet / pcs
a] 0 O0momn 4 metre / meter

www.gsb-oilless.com m

3.106

info@gsh-oilless.com



M322-01

Sapkali Serit Pimi, Yay-yuklemeli
Strip Guiding Pin with Collar, Spring-loaded
Streifenfihrung mit Bund, Gefedert

: — d2
ds dwT' j -
L i
h '
l2 I3 la
' )
Hardened
HRC 60
oooo :5 _ol’s h I2 22,1 la di -o,oz;-o,l -O,Zd/io,s
0 OO0 MoOoo00 6 29,5 o 2 25 0,5 - 3 8
0 000mOmOo000 6 30 ° 2 25 1 - 3 8
0 000! O00000 6 36,5 © 2 32 0,5 = 3 8
] 000000000 6 37 = 2 32 1 = 3 8
0 OOOMOOO000 8 31 = 3 25 1 - 5 10
0 000ooooO; 8 32 = 3 25 2 = 5 10
0 OOOOO0o0D 8 38 = 3 32 1 = 5 10
0 0O0OmO0o0D 8 39 = 3 32 2 - 5 10
0 OO0O00000 8 46 = ¥ 40 1 - 5 10
0 O00MmomOo000 8 47 o 5] 40 2 - 5 10
10 33 18 3 25 2 6,5 6 125
0 DO0MOM00000 10 34 18 3 25 3 6,5 6 12,5
0 Oo0MOmOooon 10 40 24 3 32 2 6,5 6 12,5
0 OOOCOO00000 10 4 24 3 32 3 6,5 6 12,5
0 ODOOMOOO0000 10 48 30 3 40 2 6,5 6 12,5
0 000momooO; 10 49 30 5] 40 i3] 6,5 6 12,5
0 O00OOo00000 12 ¥ 18 5] 25 2 8,5 7 16
0 000Omoo000 12 34 18 3 25 i3] 85 7 16
0 0000000 12 40 24 3 32 2 8,5 7 16
0 OOOCOmOOoo0 12 4 24 3 32 3 8,5 7 16
0 OO0OmO0000 12 48 30 3 40 2 85 7 16
0 O00oooOm 12 49 30 3 40 3 8,5 7 16
0 OOOMOOrOO0000 16 42 24 ¥ 32 3 10,5 7 20
0 000mOm00000 16 44 24 5] 32 5 10,5 8 20
0 000MO0do000 16 50 30 3 40 3 10,5 8 20
0 Oo0MOmOooon 16 52 30 3 40 5 10,5 8 20
16 60 40 3 50 3 10,5 8 20
0 O00DomooO; 16 62 40 3 50 5 10,5 8 20
0 O00momooOo 20 52 30 5 40 3] 12,5 12 25
0 O00Oomoooo 20 54 30 5 40 5 12,5 12 25
0 00000000000 20 62 40 5 50 3 12,5 12 25
0 OO0OmOOoon 20 64 40 5 50 5 12,5 12 25
0 OOOOO0o0D 20 75 50 5 63 3 12,5 12 25
0 000omOom 20 77 50 5 63 5 12,5 12 25

www.gsb-oilless.com

3.107

m info@gsh-oilless.com




—CS3

M322-01

Sapkal Serit Pimi, Yay-yutklemeli
Strip Guiding Pin with Collar, Spring-loaded
Streifenflhrung mit Bund, Gefedert

Material : ~~
16MnCr5 BE
Hardened

HRC 60

M322-02
®
cCSS —
—
Disli Tapa
Screw Plug
Verschlussschraube
Material : ~
Steel 12.9 BE N
sw
oooo d | sw
[0 M12x1,5 10 6
0 00O M14x1,5 10 6
T M16x1,5 10 8
0 000MOmOoo0 M18x1,5 10 10
T M20x1,5 12 10
0 DOOMOCO0n0 M22x1,5 12 12
T M24x1,5 12 14
lssnsnnnsunvsl M27x1,5 12 14
T M36x1,5 12 17

www.gsb-oilless.com m

3.108

info@gsh-oilless.com



GCSS s
| |

Pilot Pim Unitesi

Pilot Unit

Suchereinheit

. @ Punch12550 -
Hardness B E

50 £ 2 HRC

1

@ Bush 13505

@@/J:
Ty o § 89

‘ 16 Hardness
! 58 + 2 HRC
—a
d\A " 9 Coil Spring
9 ‘ @ 23314 DIN 6325
| |
— & 2
§ |
3 % :
O M
S| [S]
h ha T E _
hi ? % !
“ ‘ i
‘ 35
e
d
ds
40°
d d d h Spring force | Spring force
oonr w005 | ! h l2 | gy | d2 | ds | de | PR W pr((-!cI;;aNd)ed p{::::!)d
9.8 632 | 393 | 475 10 10 18 18 15 28 12 25 4,9 6,2
] DOOOOOO00000 158 | 725 | 46,3 | 54,5 16 16 24 30 26 28 12 25 4,8 5,6

www.gsb-oilless.com m info@gsh-oilless.com

3.109



—CS3

$510-02

Emniyet Pimleri icin Amortisér Vulkolonlar
Shock Absorber for Pad Retainer Pins

Halteelement

Material :
Elastomer 92 Sh

G

3x45°

15

L s
I — - —/ A -
=
— — p— X |
X~
Ps)
12 B & D

I
ooog d 0,25 w 1 n 1/2 wil r
40 50 60 45 30 32 18
OO00mO000000 50 63 80 60 40 40 23
63 86 80 60 40 51 35

www.gsb-oilless.com m

3.110

info@gsh-oilless.com



— G E S511-01

Elastomer Tipa
Elastomer Cap
Elastomerdruckstiick

seat

‘ Material :

~_~
Elastomer 92 Shore BE

oo +°,3‘/’+o!5 | h d r S;:‘t F |(1'13x.
6 95 4,5 36 - 6 100
DOO0OOmm 10 15,5 75 6 1 10 450
16 25 12 95 15 16 1500
OO 24 25 10 18 2 24 3000
30 35 19 20 25 30 3000
OO00mOI00 32 32 14 24 3 32 12000
39,5 40 16 30 3 39,5 25000

www.gsb-oilless.com m info@gsh-oilless.com

3am



§515-03

Elastomer Siyiricilar
Stripper for Blanking Dies
Abstreifer fur Platinenschnitte

Material : ~~
Elastomer 70 Shore B E

@75, 30 FA
27 2 ] L J H L 4
i ax i T o —+
| lega '
8 2-»te
19 34(x8)
-28 L=306 N° 9 Elements
oooo

www.gsb-oilless.com m

3n2

info@gsh-oilless.com



— G s Z401-01

Zimba Tutucu
Stamp Retainer

Halteplatte
0 Material : >
0~ 3D
e ELASTIC PIN @2.5x14
DIN 1481
on
M8
M1 | \ ‘
6s] NIl | | » R
| | 18 1
| 7777 ¥’
| | | |
85 \e
, | ,
!
——— 15-0,05
T 1
‘ h
: e
|
oooo -olos +21 l2 Number of Stamps
OOOomog 45 12 30 6
DOO0mOman 47 16 32 8
55 24 40 12
OOoomog 63 32 48 16
0o00momOo 71 40 56 20

www.gsb-oilless.com m info@gsh-oilless.com

33



—CS3

Z401-02

Altlik Plakasi
Backing Plate
Druckplatte

Material : P

@

an
65) \ \\g | E
t 12101
) |
@6,75H13
i |
=0 b
]
h
|
oooo I h
00000 45 30
OO00MOOOD 47 32
55 40
0000 63 48
0000mOmoD 71 56

www.gsb-oilless.com m

3n4

info@gsh-oilless.com



— G s@’ Z401-06

www.gsb-oilless.com

3115

Material : ~

X153CrMoV12 B E

Hardened

HRC 54 + 56

12,5-0,05
12-01
4-0,05
. 3,5-01
| g
i 3 |
oooo Stamp ooon Stamp oooo Stamp

OoOOmOmd 0 0O00MmOmon E 0000MmOmog R
OOoD0mOmoo 1 O000momoD F 0000momoD S
OoDOmOmon 2 OO0OmOmon G O000momoD T
OOo00mOmoo 3 0000mOmoD H 0000momoD U
OOoD0mOmoo 4 O000momoD | 0000momoD \Y
DOoOOmOmon 5] OOo0OmOmoD J O000momoD w
OO00MOmod 60r9 O000MOmod K O000mOmod X
DOo00mOmoo 7 0000momoo L 0000momoo Y
OoOOmOmd 8 0O00MmOmon M 0000MmOmog z
OOoD0mOmoo A 0000momoD N 0000momoD Space
OoDOmOmon B OO0OmOmon o O000momoD o
OOo00mOmoo € 0000mOmoD P 0000momoD —
OOoD0mOmoo D O000momoD Q

m info@gsh-oilless.com



®
Z401-07
1 ]
Zimba
Stamp
Buchstabenstempel
Material : ~~
X153CrMoV12 Bm
Hardened 12,5-0,05
HRC 54 + 56
12-01
L 20,05
3,5-01
S ] -
0 S
2 ®\ g
- ‘ @2(through)
75
alaiaja] Stamp oooo Stamp oooo Stamp
O000MmOmod 0 0000momoo E 000O0momoo R
0000momoD 1 O000mOmoo IF O000m0moo S
O000MmOmoa 2 O000m0mo0 G OO00Mm0mo0 T
0000momoD 5 O000momon H OO00OmOmon u
0000MomoD 4 O000momon | 0000momon \%
OO00mOmoa 5 0000Mmomo0 J 0000momo0 W
O000MmOmod 60r9 0000m0mog K OO000OOmoo X
O000momoo 7 O000mOmoD L O000mOmoo Y
0000MmOmon 8 0000mMOmon M 0N00mOmon z
0000momoD A 0000mOmo N 0000mOmo0 Space
OO00MmOmo0 B O000m0mo0 o OO00Mm0mo0 -
0000momoD € O000momon P OO00OmOmon _
0000MomoD D O000momon Q

www.gsb-oilless.com m

316

info@gsh-oilless.com



Z402-03

Konumlandirma Zimbasi
Visual Locator Punch
Endkontrollstempel

Material : ~~
X205Cr12KU B E
Hardened
HRC 60 + 62
@ Material: X205Cr12KU
d
da
ds
M z
£y Z Detail
ﬁ 7N
16+0,05
6
4,5+0,05
di
d2
d3
d ds
0ooo d9 di d2 ds ey ds M
T 10 42 9,9 9,5 8 6 M4
DO00MOmO0 13 52 12 12,5 1,2 8 M5

www.gsb-oilless.com

a7

m info@gsh-oilless.com




2000166439

Kabartmali Capak Kaydirma Plakasi
Stainless Steel Embossed Sheet

Gepragt Scheifle
2
4
4
4
>
4
1220 L
>
4
Material : ~_~ ¢
Stainless Steel B E :
2500 Ep.=09
oooa Dimensions mm
2500x1220xep.0,9
®
cCSS —
L1 C
Rondela
Washer
Scheibe
Y
s
Material : .
CKds a E d
di o
ooog d ch H
T Bg) 80 6
0000MOmon B 100 8

www.gsb-oilless.com m

3.118

info@gsh-oilless.com



° M307-04
1 C
C s Tespit Civatalari

Retainer Bolts

Haltebolzen
. -
: 1000 + 1200 N/mm?
l2 40
ﬂ' [~ RO,5
S g X
o b =l 3
2 S g
=36
0ooo 1 h I2
0 00000 100 60 48
0 000m0mon 120 80 68
0 0000 140 100 88
0 000momog 160 120 108
D 0O000mon 180 140 128
0 0o0momon 200 160 148
| 220 180 168
0 0o0momoo: 240 200 188
0 0o0OOrmo 260 220 208
0 000mOmog 280 240 228
T 300 260 248
0 OOOOOCO 320 280 268
0 000mOmoo 340 300 288

www.gsb-oilless.com m info@gsh-oilless.com

319



— G ﬁ M314-01

Yayli Iticiler
Spring Plungers
Federnde Druckstiicke mit Sechskant

L |
e IGK
I "5 (stroke)
Material : ~~
Steel Class 5.8 B E
Hardened inox.
0ooo d h H M Initial Force (N) Final Force (N)
I 25 9 0.8 M4 6 12
[0 D00moron i3] 12 0.9 M5 7 13
I Bi5) 14 1.0 M6 9 15
0 0OOOnon 5 16 15 M8 20 35
I 6 19 20 M10 25 45
] 00000 8 22 25 M12 35 60
I 10 24 35 M16 65 110
GSd P
— .
Yayl lticiler
Spring Plungers
Federnde Druckstlcke mit Sechskant
‘ h s (stroke)
5 a- IITTJTITT TN TI7 ”
Material : ~~ S
C80W2 ag \
Spring \
Hardened
HRC 36 + 40 M16x2 3
Body 34CrMo4 35
Springs C80W2
Hardened
HRC 36 = 40
Black oxide finish.
0ooo h H Initial Force (N) Final Force (N)
T 150 60 n 45
0 OOO0M0mon 200 80 2 38

www.gsb-oilless.com m info@gsh-oilless.com

3120



— G E@ M314-03

Yayl iticiler
Spring Plungers
Federnde Druckstiicke mit Sechskant

Material : ~
90Mn4 B E
Thread Lock Hardened
\ HRC 36 + 40
i . N Y Body 34CrMo4
N w 1&% M / M @7 q Black oxide finish.
Y A
Spring
= I ™S Gstroke)
oooo d h s sw M I"i:: a(IKl;:;ce Fi:a:;;;; e
1 10 15 0.8 M3x0,5 0,4 (0,05) 2,9(0,3)
0 00O 16 12 2 0.8 M4x0,7 1,9 (0,2) 9,8 (1,0)
0 0O0momm 2 20 3 15 M5x0,8 3,9 (0,4) 19,6 (2,0)
0 DO0MOmoa 2 13 3 15 M5x0,8 19 (0,2) 7.8 (0,8)
0 000mMOmOo 2 20 3 15 M5x0,8 1,9(0,2) 9,8 (1,0)
0 D00DOmO0 25 25 3 2,0 M6x1,0 2,9(0,3) 9,8 (1,0)
25 25 3 2,0 M6x1,0 78 (0,8) 29,4 (3,0)
0 DO00mog 31 25 3 25 M8x1,25 2,9(0,3) 9,8 (1,0)
0 O00MOmOD 31 25 3 25 M8x1,25 7,8 (0,8) 29,4 (3,0)
O DO0MO0mon 38 30 5 3,0 M10x1,5 2,9(0,3) 14,7 (1,5)
0 DO0MOm0 38 30 5 30 M10x1,5 9,8 (1,0) 49,0 (5,0)
0 O0OMOmO0 55 30 5 4,0 M12x1,75 1,9 (0,2) 9,8 (1,0)
0 DO0m0mod 515) 30 5 4,0 M12x1,75 9,8 (1,0) 49,0 (5,0)

www.gsb-oilless.com m info@gsh-oilless.com

3121



GCS> =
| ]

Yayli iticiler

Spring Plungers

Federnde Druckstiicke mit Sechskant

Material : ~~
Pin 90Mnd BE Thread Lock
Hardened ~m— 3
HRC 36 + 40
y > [LTJITLT T, 2 g
Body 34CrMo4 4 [
Black oxide finish.
Spring
12
h s (stroke)
Initial Force Final Force
oooo d h I2 H sw M N (Kgf) N (Kgf)
55 43 35 10 4 M12x1,75 39(0,4) 19,6 (2)
0 DO0MOmon 55 43 B5) 10 4 M12x1,75 6,8 (0,7) 39,2 (4)
0 DO0mOoa 8 50 35 10 5 M16x2,0 9,8 (1) 49,0 (5)
fanusnnnnns] 8 50 35 10 5 M16x2,0 19,6 (2) 98,0 (10)
8 60 35 10 5 M16x2,0 12,7 (1,3) 392 (4)
0 DO000con 8 60 35 10 5 M16x2,0 26,4 (2,7) 78,4 (8)
0 000mOmoo 8 60 55 15 5 M16x2,0 9,8 (1) 392 (4
0 0O0OOnon 8 60 55, 15 5 M16x2,0 14,7 (1,5) 78,4 (8)
0 COOCOemon 8 85 35 20 5 M16x2,0 12,7 (1,3) 392 (4)
0 COOCO0CoD0; 8 85 35 20 5 M16x2,0 16,6 (1,7) 78,4 (8)
0 D00mO0mOo 8 125 35 30 5 M16x2,0 19,6 (1,8) 78,4 (4)
0 DOOmOmon 8 125 35 30 5 M16x2,0 19,6 (2) 78,4 (8)
0 000momoD 8 155 85 50 8 M16x2,0 19,6 (2) 49,0 (5)
0 000mOmon 8 155 35 50 8 M16x2,0 29,4 (3) 98,0 (10)
T 10 60 45 15 8 M24x3,0 19,6 (2) 98,0 (10)

0 000momd 10 60 45 15 8 M24x3,0 39,2 (4) 196,1 (20)
0 000MOmo0 15 70 45 20 12 M30x3,5 29,4 (3) 147,0 (15)
0 OO0Omod 15 70 45 20 12 M30x3,5 49,0 (5) 294,1 (30)

www.gsb-oilless.com m info@gsh-oilless.com

3122



M314-05

Yayl iticiler icin Ayar Takimi
Insertion Tool for Spring Plungers

Beschreibung

Material :
Steel

Hardened
HRC 36 + 40

~_

3]0

Black oxide finish.

nooo d h | ch Spring Plunger

0 00000mod 6 40 40 3 M5, M6
0 000momoo: 8 45 45 4 M8
0 000000 10 45 45 4 M10
0 000mOmod 12 50 50 5 M12

0 16 70 52 8 M16
0 000mOmod 24 80 62 12 M24
0 000mOmoo 30 100 73 15 M30

www.gsb-oilless.com

3123

m info@gsh-oilless.com




GCS> e
| ]

Stoplama Civatalari

Shoulder Screws

Schulter-Passchrauben

s2 h 2

0.7k,

Material : ~_ N

High grade alloy steel BE @/
1S012.9

Hardened g(
HRC 39 + 44 d .

I
|
|
o
|
|
=ifi=
|
|
i

Tensile Strength Rm =1200
N/mm?

Yield Strength Rp =1080 N/mm?
Shear Strength Tm =720 N/mm?
Elongation A =%8 min. s
Impact Test : KCU 15J min. @

mi

600

m1 measuring point = “d”

d d
e 6 8 10 12 16 20 24 e 6 8 10 12 16 20 24
M M5 | M6 | M8 | MIO | M2 | M6 | M20 h
jsn
dk/ 10/ 13/ 16/ 18/ 24/ 30/ 36/
s2 45 | 55 7 9 il 14 16 35 . . . . .
I, 40 . . . . . .
s 95 il 13 16 18 22 27
45 . . . . . .
si/sw | 24/3 | 33/4 | 42/5 | 49/6 | 66/8 | 88/10 | 10/12
50 . . . . . . .
h
jsn 55 . . . . . . .
10 o 60 . . . . . . .
12 . . 65 . . . . . .
15 . . . . 70 o o o o o o
16 . . . . 80 . . . . . .
20 . . . . 90 . . . . . .
25 . . . . 100 . . . . . .
30 . . . . . 120 . . . .

Order Example:
d=6, h=10

Order Code:
M315-01-0506010

www.gsb-oilless.com m info@gsh-oilless.com

3124




GCSS =
| ]

Tespit Civatalar

Retainer Bolts

Haltebolzen

B J @on oo B’E

Material: Steel 1000
l2 N/mm?

Material: Steel 1200 + 1400
N/mm?

eo-Ring*

* Remove before assembly

ol 10 125 15 175 23
M M6 M8 MIO MI2 Mi6
dz 15 19 23 27 34
ds 10 13 16 18 24
h 10 13 15 18 24
n 55 65 75 9 n
sw 5 6 8 10 14
12,1 l2
20 35
25 40
30 45 45 50
35 50 50 55
40 55 55 60 60
45 60 60 65 65
50 65 65 70 70 80
55 70 70 75 80
60 80 80 80 90 90
70 90 90 90 100 100
80 100 100 100 10 10
20 10 10 10 120 120
100 120 120 120 130 130
10 140 140
120 140 150 150
140 170 180
150 180
160 200

Order Example:
M=6, h=20

Order Code:
M315-02-06020

www.gsb-oilless.com m info@gsh-oilless.com

3125




GCSS =
| |

Yayl iticiler

Spring Plungers

Federnde Druckstticke mit Sechskant

Material : ~~
Pin 90Mn4 B E
Hardened
HRC 36 + 40
Body 34CrMo4
Yellow Thread Lock
Black oxide finish.
Colour marking yellow. ) < \NS LCY 2
2 3 W AT —— ¢
S = 1=
=~
35
h s (stroke)
h 5 Spring Rate Initial Force Final Force
o (N /mm) N N
0000M0mO0000 60 10 0,95 38 13,3
000000 60 15 2 10 40
OOOOMOrOOaoD 80 20 1,38 6,9 345
OO00MOMmO0000 80 30 13 6,5 45,5
0000000000 120 30 0,73 18 40
000000000000 150 40 0,6 13,2 372
DO00OmO00m 150 50 0,6 13,2 43,2
OO0OMmOOOO000 150 60 0,6 13,2 49,2
200 70 0,44 9,68 40,5
DO00OOO0 200 80 0,44 9,68 44,8

www.gsb-oilless.com m info@gsh-oilless.com

3.126



N S$504-04
— Gs Yay!i Iticiler

Spring Plungers
Federnde Druckstiicke mit Sechskant

Material : ~~
Pin 90Mn4 B E
Hardened
HRC 36 + 40
Red Thread Lock Body 34CrMo4
i X Black oxide finish.
. < \\al ¥ v Colour marking red.
: 2 ol L =
N oS ~ 14z
5
35
h s (stroke)
R h 5 Spring Rate Initial Force Final Force
(N /mm) (N) (N)
0000MOMO0000 60 10 B¥25 13 45,5
0000m0mo0000 60 15 2,60 15 56,0
OO00OmO0000 80 20 6,90 34,5 172,5
OO00MOmOo000 120 30 2 20 80,0
DO 150 30 2,55 56,1 132,6
OO00m0moo0m 150 40 2,55 56,1 158,1
000000000 200 50 1,61 19,3 99,9
0000MOMo0000 200 60 1,61 19,3 16,1
OO 200 70 1,61 19,3 1321
OOOOO000000 200 80 0,94 25 100,1

www.gsb-oilless.com m info@gsh-oilless.com

3127



GCSS e
| |

Yayl iticiler

Spring Plungers

Federnde Druckstticke mit Sechskant

Material : ~~
Pin 90Mn4 B E
Hardened
HRC 36 + 40 Yellow Thread Lock
Body 34CrMo4 e
o < NS “:
Black oxide finish. S S / +-——X 8 |=
. N [}
Colour marking yellow.
*The spring pin made from high 5 ™
performance plastic with
additives permits lateral 35
loading of max. 15° depending
on the stroke length. I s (stroke)
Spring Rate Initial Force Final Force
0ooo [} h s (N /mm) N N
0L 16x1,5 60 10 0,95 38 13,3
0000000000000 16x2 60 10 0,95 38 133
0OO0MOMDEOO00ID 16x1,5 60 15 2 10 40
OOOOMOMOOOOOO0 16x2 60 15 2 10 40
RERRRINRRRRREE i 16x1,5 80 20 1,38 6,9 345
OO00MOMO0000MO0m 16x2 80 20 1,38 6,9 345
OO00M0Mo0000 I 16x1,5 80 30 13 6,5 45,5
0000M0MO0000O0mD 16x2 80 30 13 6,5 45,5
O000MOMo0000 [ 16x1,5 120 30 0,73 18 40
nln/uln/unwn W e e e R R 16x2 120 30 0,73 18 40
16x1,5 150 40 0,6 13,2 372
0000M0mO0000moD 16x2 150 40 0,6 13,2 372
****** OOOn0n0 16x1,5 150 50 0,6 13,2 432
(8 16x2 150 50 0,6 13,2 432

www.gsb-oilless.com m info@gsh-oilless.com

3128



y S$504-06
— Gs Yay!i Iticiler

Spring Plungers
Federnde Druckstiicke mit Sechskant

Material : ~~
Thread Lock Pin 90Mn4
Red
v \ ‘A\ Hardened
N HRC 36 + 40
o < :
S 2 ] *ff}F 8 |z Body 34CrMo4
< Q
T [} o
> Black oxide finish.
s Colour marking red.
*The spring pin made from high
35 performance plastic with
additives permits lateral
I s (stroke) loading of max. 15° depending
on the stroke length.
— M h 5 Spring Rate Initial Force Final Force
(N /mm) N) N)
0000000000 () 16x1,5 60 10 3,25 13 45,5
O000MOOO0O0O0m 16x2 60 10 3,25 13 45,5
0000MOMO0000mD 16x1,5 60 15 2,6 15 56
D00MOMOON00000 16x2 60 15 2,6 15 56
16x1,5 80 20 6,9 34,5 172,5
0000000000000 16x2 80 20 6,9 345 172,5
,,,,,, OO0000mn 16x1,5 120 30 2 20 80
000000000000 16x2 120 30 2 20 80
”””” [O0000MI 16x1,5 150 30 2,55 56,1 132,6
i 16x2 150 30 2,55 56,1 132,6
16x1,5 150 40 12355 56,1 158,1
00N0MO0MON000mO0m 16x2 150 40 2,55 56,1 1581
OOOOMOOOOoD 16x1,5 200 50 1,61 19,3 99,9
OO0OMOMOC000MO0m 16x2 200 50 1,61 19,3 99,9

www.gsb-oilless.com m info@gsh-oilless.com

3129



Y S$504-07

—CS3 .
Yayl lticiler

Spring Plungers
Federnde Druckstticke mit Sechskant

Material : ~~
Pin 90Mn4 B E
Hardened

HRC 36 + 40

Body 34CrMo4

Black oxide finish.
Colour marking white.

*The spring pin made from high
performance plastic with
additives permits lateral

loading of max. 15° depending
on the stroke length.

White Thread Lock

> < NSl 1]
1@ : A =" |
S =T 1
=
35
I s (stroke)
b g Spring Rate Initial Force Final Force
0ooo [u} (N/mm) N N
IO i 16x1,5 80 20 3,02 15,1 75,6
DO0OMOMOD000 D000 16x2 80 20 3,02 15,1 75,6

www.gsb-oilless.com m info@gsh-oilless.com
3.130



— G E S504-08

Yayli iticiler icin Ayar Takimi
Insertion Tool for Spring Plungers
Beschreibung

Material : ~~

=W

— G E S$510-05

Delikli Vulkolon Yaylar
Elastomer Springs, Hollow
Elastomerfeder

40
5 |
9
s I
5 |
‘ 80
I Material : ~~
‘ Elastomer 92 Shore A a E
i
i
d
d
ooog d ch
777777777 80 106
OO0 90 n7

www.gsb-oilless.com m info@gsh-oilless.com

3131



— G ﬁ $512-1XX

Delikli Vulkolon Yaylar
Elastomer Springs, Hollow
Elastomerfeder

u]u[ufu] d ch 1

d

16 6,5 250
d

‘| DOO0M00Mmo000m 20 85 250

1 25 10,5 250

‘ OO0 D00MOO0O 32 13,5 500

i 40 135 | 500

i OO0OMO0Mm000000 50 17 500

‘ 63 17 500

| 80 21 | 500

Material - P § OOOOM00MO00000

Polyurethane - Ultraflex B m - S 100 21 | 500

Hardness - Color - Deflection ‘ OO0OMO0M000000 125 27 500
82 Shore A - Yellow %35 !
92Shore A-Red %30 ‘
94 Shore A - Green %25 i
|
[

Order Example:
d=32, 1= 500, Hardness= 92 Sh

Order Code:
$512-192-0320500

— G E@ S$513-1XX

Vulkolon Yaylar
Elastomer Springs
Elastomerfeder

d |
d u]u[ufu]
16 250
0000M00mO00000 20 250
25 250
OO0 D00MOO0 32 500
40 500
OOOOMmO0o00000 50 500
Material : ~ — $ 63 500
Polyurethane - Ultraflex Bg - Vo6
D0N0MO0mMO00000 80 500
Hardness - Color - Deflection
82 Shore A - Yellow %35 100 500
92 Shore A - Red %30
94 Shore A - Green %25 OOOOMOOMOO000n 125 500
Order Example:
d= 32, 1= 500, Hardness= 92 Sh
Order Code:
S513-192-0320500

www.gsb-oilless.com m info@gsh-oilless.com

3132



$514-XXX

Delikli Vulkolon Yaylar
Elastomer Springs, Hollow
Elastomerfeder

i
i

Kp d E Material: @ |  Order Example:
daN Y Ti’ Polyurethane - Ultraflex B E d=32,1= 50, Hardness= 92 Sh
%3 ‘ ‘ Hardness - Colour - Deflection Order Code:
! 1 82 Shore A - Yellow %35 S514-192-032050
/ \ | 92 Shore A - Red %30
‘ % 94 Shore A-Green %25
\ i g /
—
$514-182 $514-192 $514-194
Mak. Esneme %35 Mak. Esneme %30 Mak. Esneme %25
Ultrafleks 82 Shore Ultrafleks 92 Shore Ultrafleks 94 Shore
Yellow Red Green
oo d ch 1 s d2 Kp s d2 Kp s d2 Kp
mm mm mm mm mm mm daN mm mm daN mm mm daN
Doommd 16 6,5 16 56 22 80 4,8 19 130 4 19 160
,,,,,, 16 6,5 20 7 22 80 6 19 130 5 19 160
Doommg 16 6.5 25 9 22 80 75 19 130 6 19 160
****** 16 6,5 32 n2 22 80 9,6 19 130 8 19 160
OO0mImo 20 8,5 16 6 28 150 4.8 26 200 4 25 325
OO0mImo 20 85 20 7 28 150 6 26 200 5 25 325
Doommg 20 85 25 9 28 150 75 26 200 6 25 325
****** 20 8,5 32 1,2 28 150 9,6 26 200 8 25 325
OO0 20 8,5 40 14 28 150 12 26 200 10 25 325
25 10,5 16 6 33 210 4,8 30 300 4 29 450
0000 25 10,5 20 7 85 210 6 30 300 5 29 450
BEEE 25 10,5 25 9 By 210 75 30 300 6 29 450
Doommg 25 10,5 32 n 33 210 9,6 30 300 8 29 450
25 10,5 40 14 33 210 12 30 300 10 29 450
OO0mmo 25 10,5 50 175 33 210 15 30 300 13 29 450
,,,,,, 32 13,5 16 6 43 360 4,8 41 580 4 38 800
0O0mmd 32 13,5 20 7 43 360 6 41 580 5 38 800
****** 32 13,5 25 9 43 360 75 41 580 6 38 800
[mE ] 32 13,5 32 n 43 360 9,6 41 580 8 38 800
32 13,5 40 14 43 360 12 41 580 10 38 800
[Wamiinia] 32 13,5 50 18 43 360 15 41 580 13 38 800
DOOMmo 32 13,5 63 22 43 360 19 41 580 16 38 800
Doommd 40 13,5 20 7 54 650 6 50 1250 5 47 1500
40 135 25 9 54 650 75 50 1250 6 47 1500
OO0mmo 40 13,5 32 n 54 650 9,6 50 1250 8 47 1500
,,,,,, 40 13,5 40 14 54 650 12 50 1250 10 47 1500
0O0mmd 40 135 50 18 54 650 15 50 1250 13 47 1500
****** 40 13,5 63 22 54 650 19 50 1250 16 47 1500
0oommg 40 13,5 80 28 54 650 24 50 1250 20 47 1500
0O0mIo 50 17 25 9 65 100 75 62 1700 6 60 2000
Doommg 50 17 32 n 65 100 9,6 62 1700 8 60 | 2000
****** 50 17 40 14 65 1100 12 62 1700 10 60 | 2000
[REELInE] 50 17 50 18 65 100 15 62 1700 13 60 2000
,,,,,, 50 17 63 22 65 1100 19 62 1700 16 60 | 2000
OOOmma 50 17 80 28 65 100 24 62 1700 20 60 2000
0oommod 50 17 100 35 65 100 30 62 1700 25 60 | 2000

www.gsb-oilless.com m info@gsh-oilless.com

3133



—CS3

$514-XXX

Delikli Vulkolon Yaylar
Elastomer Springs, Hollow

Elastomerfeder

Order Example:
d=80, I=100, Hardness= 92 Sh
Order Code:
$514-192-080100
d g
S
I T g
|
/ | \
\
Material: ~~ ‘
Polyurethane - Ultraflex BE \ | ;
Hardness - Colour - Deflection 1
82 Shore A - Yellow %35
92 Shore A - Red %30 d2
94 Shore A - Green %25
$514-182 $514-192 $514-194
Mak. Esneme %35 Mak. Esneme %30 Mak. Esneme %25
Ultrafleks 82 Shore Ultrafleks 92 Shore Ultrafleks 94 Shore
Yellow Red Green
o d di | s d2 Kp s d2 Kp s d2 Kp
mm mm mm mm mm mm daN mm mm daN mm mm daN
OO0mmd 63 17 32 n 81 1600 9,6 78 2600 8 74 | 3500
****** 63 17 40 14 81 1600 12 78 2600 10 74 | 3500
OOommd 63 17 50 18 81 1600 15 78 2600 13 74 | 3500
,,,,,, 63 17 63 22 81 1600 19 78 2600 16 74 | 3500
DOommo 63 17 80 28 81 1600 24 78 2600 20 74 | 3500
63 17 100 35 81 1600 30 78 2600 25 74 | 3500
DO0Im 63 17 125 44 81 1600 375 78 2600 31 74 | 3500
80 21 40 14 103 2600 12 98 4300 10 95 | 6000
Doommd 80 21 50 18 103 2600 15 98 4300 13 95 | 6000
,,,,,, 80 21 63 22 103 2600 19 98 4300 16 95 | 6000
DO0Imd 80 21 80 28 103 2600 24 98 4300 20 95 | 6000
******* 80 21 100 35 103 2600 30 98 4300 25 95 | 6000
DOm0 80 21 125 44 103 2600 375 98 4300 31 95 | 6000
80 21 160 56 103 2600 48 98 4300 40 95 | 6000
DO00MmImo 100 21 50 18 126 4300 15 120 5900 13 120 | 10000
DO00mIo 100 21 63 22 126 4300 19 120 5900 16 120 | 10000
OO0OmI 100 21 80 28 126 4300 24 120 5900 20 120 | 10000
100 21 100 35 126 4300 30 120 5900 25 120 | 10000
DO00mmog 100 21 125 44 126 4300 375 120 5900 31 120 | 10000
,,,,,,,, 100 21 160 56 126 4300 48 120 5900 40 120 | 10000
D000 125 27 63 22 160 6400 19 152 9900 15,7 150 | 15000
******* 125 27 80 28 160 6400 24 152 9900 20 150 | 15000
0O00mmon 125 27 100 55 160 6400 30 152 9900 25 150 | 15000
125 27 125 437 160 6400 375 152 9900 31,2 150 | 15000
0000mmod 125 27 160 56 160 6400 48 152 9900 40 150 | 15000
DO0OMIOD 125 27 200 70 160 6400 60 152 9900 50 150 | 15000

www.gsb-oilless.com m

info@gsh-oilless.com
3.134



D901-01-745

Kalip Alistirma Boyasi
Dressing Paste for Surface Control
Retuschierfarbe

Colour

Lt.

Blue

250 ml.

=

Physical and Chemical Properties

Paste

10mon

Blue

Characteristic

0 DDOmOmo 45°C
00 O D0mm >150 °C
OO0MOMOO not explosive
0,85 g /ml
[l i) In many solvents
0 OO0 Insoluble
Fiziksel ve Kimyasal Ozellikler
OIIMCO0m 000 Paste
omo Mavi
0o Karakteristik
Erime Noktasi 45 °C
>150 °C
Patlayicilik Patlayici 6zelligi yoktur.
Yogunluk 0,859 /ml
DOmOoomd Bircok ¢oziicti de ¢ozindr.
************ mo Suda ¢oziinmez
und chemische Ei
00000000000 Paste
o Blau
00mm Karakteristik
000 Orooooo 45 °C
,,,,,,,,,, [m >150 °C
DOmoog Keine
Omom 0,859 /ml
OOOmom Mit den meisten Lostingsmittel I16sbar

Keine

www.gsb-oilless.com

3135

m info@gsb-oilless.com




# NOTES

www.gsb-oilless.com m info@gsh-oilless.com

3.136



